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<script>

console.log("Welcome to JavaScript Tutorials!");

</script>
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<script> -
console. Tog("welcome to Javascript Tutorials!");
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console.log(

"Welcome to JavaScript Tutorials!");
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Console.log("Welcome to JavaScript Tutorials!");
console.LoG("Welcome to JavaScript Tutorials!");
CONSOLE. log("Welcome to JavaScript Tutorials!");
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console.log("Welcome to JavaScript Tutorials!");

2ia3)38 gl daliy bj ol 1 (gyisin Cllao 62T (gl )3 13k LT Javascript dlgl )lidlw g Oluogas L oS Jlo

<CSg0l Luolgs
. * *
Oludgs
©lel; yihw g) JavaScript ) .auS dslal )T & A5 o adubg (559150 g (Side a5 Ldlgdn Ll 3uiS (e Lol (635 a5 (i

9 A3gid(50 d4i8)S 03050 jmie uwgi 45 Ald (Sigie Olowdgs 13 plos] Wlowbgi 1 eslaiwl b 1y IS ¢l ¢lgsise (mwgd 4oly

- Vgid5a3 Domxe 35 | A0 plgic 4



a9 4oby (sledby Ghjgel culw w3-farsi.com 10

45 23S o8 .l (L3 (Gl clads bawgs 0as Ay (Sl dS LR Gousuil g (Ll (53 YU Wilowd gl sleyl I Lol Wao
(Sl Ao (5l Oloxwdgs jl L saughy O IS L 35 (VL )3 |) Oloxudgs algise a0 Budgs ol 35 S 390 53 2olgS (50
D ol 034 031> (i ilowogl LI 5 doliy 5O L3950 83liw] @ doliy

// This line will print the message hello world

console.log("Hello World!");

Hello World!
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// single line comment

/* multi

Line
comment */

Eopid /] e b tslowsdgi ol . Xg)50 )15 @ ks Sy 3oy Silowdgd (gl wunlawy el jl a5 dgSilas s I Gilxusdgl
35 ,LS b YU 53 Vgae Oiloxwsdgs g5 (pl .01 e Lluws 4 Olaxwdgd 3o 3,50 )18 LT Cunly Caw 53 &S (glaidbgs yo 9 Lgd 50
b Ghe Az Olxwdes g0 edliul Ghs sz Olaxwdes jl ML jLs b S jl G @ 35 S0 0)b)> Zudes )S1.35,50 )L

$ 39 (50 Domze Olxwd gl 32 3,80 HhE cuolle 93 ¢l o oS (b o L 3Lhie GLL */ L g Egpd */
S sy

S 9 WG dae b Byo SO g3l Jid @y g Migdze Egpid (\) Uil SO S L & Jitiwnd (15)5 Sl HIS (JyiiS (sloyiShiS
o3l \Nn JyiS y5S IS 51 glgise oo )3 didsy 5313 )18 9 13z b G sloul (gl Jlie (glp 330 Ginlad pols Cunyd b |y aiddy

HENY

console.log("Hello\nWorld!");

Hello
World
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console.log("We can print a \\ by using the \\\\ escape sequence.");

We can print a \ by using the \\ escape sequence.
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console.log("C:\\Program Files\\Some Directory\\SomeFile.txt");

C:\Program Files\Some Directory\SomeFile.txt

t S (50 03l \7 51 T Olo (gl iS50 83wl oaidsy ()31 s glp () ouinigS ol 51 auleuT ;I

console.log("I said, \"Motivate yourself!\".");
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I said, "Motivate yourself!".

P S 03wl \7 1 () pdideS Ol ghe prigee

console.log("The programmer\'s heaven.");

The programmer's heaven.

1 390 03wl \tjl wlalS b Bg)> (g dbold Sl (gl

console.log("Left\tRight");

Left Right
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console.log("\u@oA9");
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abstract arguments *await boolean
break byte case catch
char *class const continue

debugger default delete do
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double else *enum eval
*export *extends false final
finally float for function
goto if implements *import
in instanceof int interface
*let long native new
null package private protected
public return short static
*super switch synchronized this
throw throws transient true
try typeof var void
volatile while with yield
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CaoMe b g «aid)S 518 {} ole 93 (3 0393 lad0 g 35S Wyg0 @ a5 Jimd o @ j1 (5l dcgamo
(Object) (54
L35l 0dis laz o 1 () LIS

.l (o false L true )jlado 95 Joliv boolean
ol AiSUEL Hlado by g (B Guz gad (glive @ a5 cwl yols Hlade S Null
>S9 aolgs undefined b ply o jlade 6B5T 940 ddgl (s3)l380 § 394 Cayy=i (gyasio HS| undefined

O (50 EOG Ay oD 5D o yuie ) LgiT jl edlatiuw] 692 g YU (5 831> Elgil 390 >
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CundlS Javascript )s (@3S (o yasuive a |y e g5 1L i Liyyel Ko 45 «3)lb (w g lgls Jho (plo (L) BV p

D s polaisl ) 4 Hlade O (golure Caole dlung 4 g didsgd |y yuoie U Guaws g Var (gauls aalS lawl «S
var variableName = Value

D ol 024 031 Ginlad Woyuio (@3)lado g Lyl 0920 pj JUie )

var numericVar = 10

var boolVar true

var StringVar = "Hello World!"

var arrayVar [1, 5, 8]

var objectVar { "Name': 'jack', ‘'family': 'Scalia', 'Age': 7 }

console.log("numericvar = ", numericVar)
console.log("boolvar = ", boolvar)
console.log("Stringvar = ", StringVar)
console.log("arrayVar = ", arrayVar)
console.log("objectvar = ", objectvar)

numericVar 10
boolvar true
StringVar Hello World!
arrayVar Array(3)

0: 1

1: 5

2: 8

length: 3

objectVar = Object
Name: "jack"
family: "Scalia"
Age: 7
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pobais] Ll 4 a5 (g)lade 4 diun |y o yugio E93 JavaScript Twme Woyugio ¢l E¢5 Lol .5l oadd Layy=i o jugie (1-5 bghs ;>
031> yolaisl (T @ (gl didy Hlade SO oz wwl didy Egi 51 3 ko> )5 StringVar yussie Eg5 Wio .3)5 (50 )15 )3 39 (50 031>
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var arrayVar = [1, 5, 8]

Gl & Object wayyei ) .l 634 831> Yolaisl (T 4 Object g jl Hlade Sy g Gl 6add Layy=i jusio Sy o 5 b5 )
@ 4l3do/3ulS 93 & (0 91 Code jlabe g 3ulS (. Nigh (so Liyed HlaEe/ S o G Lo @il .39 (e edlawl {} I [] caole
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var objectVar = { Keyl: Valuel, Key2: Value2, Key3: Value3 }

35 SO g g L@l 03135148 () LlS code Lp3T (yu a5 315 lade/3ulS b @il duw a5 @il 63,5 Cayyei Object <o Vb Jlio ) Wie
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var identifierl = identifier2 = ...indentifierN = Value

DS azgi pj JUe

var numl = num2 = num3 = num4 = num5 = 10
var messagel = message2 = message3 = "Hello World!"

console.log(numl)
console.log(num4)
console.log(messagel)
console.log(message3)

10
10

Hello World!
Hello World!

9 01 6)u>d abddl> 55 10 )lado (siwy Dgdd (50 631D Havasd dbdls Gl SO YL el > 834 Lyl (g yuio (gl 45 JuiS Cds
WP 9 3)S wiyyeli |y pusiie iz )lgd (o Huisad LALS (5o o)Ll dbisls | G515 (4T 4 NUMS g NUM4 g NUM3 g NUM2 g UM (gl yusio

1300 Lasuie (gl BBz lade o T I S o
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var identifierl, identifier2, ...indentifierN = Valuel, Value2, ...ValueN

T3S dzgi pj JUe

var [numl, num2, messagel] = [10, 12.5, "Hello World!"]
console.log(numl)
console.log(num2)

console.log(messagel)

10

12.5
Hello World!

1L o b u2io JavaScript > . aib (o0 'Hello World plyp messagel g 12.5 plp num2 (10 plyw numl jlade YU 35 5
4zlgo las b 23S bzl ) doby 9 34035 golaisl |y (g)laie T 4 g 03,5 Cayyai |y (5yuio )51 imy digdd @3)|Aio o g i)y
P g (50

var number

console.log(number)

Uncaught ReferenceError: number is not defined

P1AS o 25515 )18 1 L T Cole S5 )3 &S CawldyiS ISl degame <SG Juol jo didy SO a3)S o)Ll o i () 5> a5 johilas

P S 4298 ) i) 4

var message = "Hello World!"
DA dzgl ) S @ g S) (gl ccawl 4 ol 0,5 HS Gl YL iy )
Hello World !
0123456789 1011
P S e ) ©)90 @ &5 CumdlS diidy ol j1 (W W) )55 S0 ol gl J
var message = "Hello World! "

console.log(message[6])
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var arrayVar = [1, 5, 8]

console.log(arrayvar[2])

1394 831> ikl Lad (gl T jlade B dumngh |y 305 pb 3L e Object 3590 )5 Lol g

var objectVar = { 'Name': 'jack', 'Family': 'Scalia', 'Age': 7 }
console.log(objectVar[ 'Family'])

Scalia

Gl Gl lab g 3L (5eg) yo 1 3ilgT (0 ObFect ) lo)labe/ s a5 Cuwl ¢l @S 8Ll T G Lo uad )d Cunl yigy a5 (gl 4SS
DS azgi pj JUe 4 damngh; 3283 ) 3l U 2L 35 S @ boyyo lade

var objectVar = { 1: 'Jack', '2': 'Scalia‘', 3: 7 }

console.log(objectvar['2'])

Scalia

D Cwl (lad dsui qaumagio 1) 2 33e 2° (gle 4 )51 Jlo @il 83)S Ol 1) 27 3S jlabe Lo YU JUie )

var objectvar = { 1: 'Jack', '2': 'Scalia', 3: 7 }
console.log(objectVar[2])

Scalia

b <l

b 0T ulgises by shal loj )3 3550 3 0313 Lolais! agl Hlade ewls 4 aS ¢l jl 32 . 010 3929 4 Ui doly 53 94
B aimngize S)p Bgym b 3138 Gub |y ool ol Ygane 3,5 edlisiwl const (gaulS aalS 51 1L Locol wayyei (gl .31 juss

T Gl 00T y3j 55 Coll Layyei 090 Al sy doliy 5o LoiT Lousins
const data_type identifier = initial value;

¢ Jlo
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const NUMBER = 1;
NUMBER = 10; //Uncaught TypeError: Assignment to constant variable.
ol Jlsw ¢l Cwl (Sae 0S50 azlge Uas b 1) doly 03dd @3 )lade Ws aS ol G a3 (531 Hladio 45 im0 Jlie ¢l 5o

i daliy Job )3 35,0 45 3513 3929 daliy 53 (5dle a5 Liwe (iako (S| Ttz ool jl edlaiwl Ju> a5 3ibb 63l (yiny

3060 YL ) Lo 4oliyy CaadsS S295 iz )0 )15 ol 35 Liyei coll ©yg0 @) LT a5 Cawl yigy 1S (505
031> Elgl Jaaus

oSl 02 Ly ik 1 @195 1 (slasgame (Sh1> ) ol 31> 3929 )53 E9 @ €9 S o el CaySwllgle (b
Fal 03)5 @l (933 @ (933 ju Elgil Jaa (gl 3o 93 CaySasllgle L3S o )05 €95 4 €99 S jl ) ol Sblgie

praseInt() e
parseFloat() e

- Vg didigs Syiy By> )90 4 2L T g F By a5 S dzgs

odgl 5l praseInt() xio 3515550 » 1) NaN jlade Elgil audy (59) 2 9 JiS(50 )5 dac (gol= (slodid) 59y p Lid ke (¢l

P35 428 pj Jlie 4wy (633 put (5)B LB @) 4Kl B a5 50 iy

console.log(parseInt("25Number™));

N
2]

FSHE gl e (gl j> aidl L AS 50 gtmz 4 Egyd HSHIS (gl 51 g 63,5 Joc parselnt() silad ju5 parseFloat() aio

T3S a3 5 Jlie . 013,5 50 g0 plad 4 1) T g 39500 Ll dais

console.log(parseFloat("25.5Number"));
console.log(parseFloat("25.45.2Number™));

25.5
25.45

3929 Type Casting (glp Yo dw .3)15 3929 Elgil (Jraus (glp Type Casting @ pgwge (4ibg) jl edlakiuwl (5ol CapySwllgls 5>
1yl

Boolean() e

Number() e
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String() e

o b g 00 jl e 33e S oI55 Sy JBlas Joliv (glaidsy «(pbl8b)s yiel)b a5 3315)5 50 o |y true jlade (Sileoj Boolean() sie

undefined g null pslie S by dac (503 (gl (AlEdL)S yiehl aS 3135 50 1 ilej ju |y False jlade . dibly (b

1 b

var bl = Boolean("");

var b2 = Boolean("String");

var b3 = Boolean(100);

var b4 = Boolean(null);

var b5 = Boolean(0);

var b6 = Boolean(new Object());

console.log(bl);
console.log(b2);
console.log(b3);
console.log(b4);
console.log(b5);
console.log(b6);

@ 51515 2o 93 (I b po (plowglas (g a3, ploul parseFloat() g parseInt() glodie 4y auid (g5 Number () Ao
@iy Wio . 53513)5 50 p (0! (52 ySHS gl B haidd 1y (;i8L)s legS)T parseFloat() ¢ parseInt() losio il aidsls b
o ybas 5l iy oyl hj . 3513)S (50 1y NaN laie Number () die Lol .3, 3iddlgs Jaaui 25.5 ¢ 25 & wlys 4 |y Number”25.5., 2"
1 6slaiuol (gl 395 Number () e 3L aidbly 1) dae SO @ (s el glaidsy )51.3)135 1) 33 S @ Jp345 5l Number ()
olis 1) el Elgil gl Number() gl shya! Juols i Jlie .3p550 paasas parseFloat() g parseInt() glgi jl Sy

HRV- XS

console.log(Number(false));
console.log(Number(true));
console.log(Number(undefined));
console.log(Number(null));
console.log(Number("5.5"));
console.log(Number("56"));
console.log(Number("5.6.7"));
console.log(Number(new Object()));
console.log(Number(100));
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1315)5 50 0 Ay ylgis @ 3,550 a5 ) Sz lad a5 Cuwl String() e Yie ¢pyieske

console.log(String(null));

null

TS dzgi pj Jlie 4 .39d 50 odlatiml juio Egi pausuid (glp o 1 45 315 392g typeof () pb & e S CayySuwllgls 5>

var valuel = 10.0;
var value2 = "Hello World!";

console.log(typeof (valuel));
console.log(typeof (value2));

number
string

Auloyd anslyo W3-farsi. com colw 4 L3z Cdlloe Cdly,s (gl

Auloyd Jlw)l younes.ebrahimi.1391@gmail. com Jaoyl a3 1) 395 wilslgisiay 9 wilslail


mailto:younes.ebrahimi.1391@gmail.com
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o, Slac g wlyle

D 09 LT dalS 9 b 1kl
<A (50 plil ols Jlacl a5 diiwd (poslas :)ilm: .

L A0 plil lac ST g9y Lm)ilncdf(s)gblibo :Mglac @

LAT5e lns @ Slac + Caole g Jglac Y g X T 53 a5 Cuwl jlie S 1 X+Y Wio

Gikize (glo)Slee ghls capySullgle ailze Olus 4 oL Jsaze szl | & iwd (n)Slac (gh1s 032 Gungs 4eby kL)
B85 9 gaz Slac @ olgie 00) 03k s Slac jl .3bbe Gin 5 Gikie (Slunlio (papaid (L) )Slac daz )
1 313 3929 CayySwllgls 53 \Slac Eg5 dw .35 o)Ll

313 5 Wglae G @ (Unary) - S5 e

313 5L Jiglac 93 4y (Binary) - (939> e

315 5L Jiglac dw 4 (Ternary) - (pUaw o

.\ e L;LQ) i .

lawslio LgL(b)iLa.c .

L,.o.h.ngLQu)iJAc .
G lo)Slac o

13 (0 i |y Javascript (ol slo,Slac 1) Jgdz 35S (5o 03wl Gluslse ploul (gl (0L (slo,Slec j1 JavaScript

var3 g var2 gaz Jol> b cuwl plp Varl varl = var2 + var3; Binary +
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var3 g var2 @ai Juols b cuwl ply Varl varl = var2 - var3; Binary =
var3 s var2 oyualols b cwl plyp Varl varl = var2 * var3; Binary *
var3 glgs 4 var2 b cuwl ply Varl varl = var2 ** var3; Binary =

var3 p var2 quwi’ Jols b cwl ply Varl varl = var2 / var3; Binary /
var3 g var2 auais 635le8b b cuwl ply Varl varl = var2 % var3; Binary %
var2)lade L cwl plp Varl varl = +var2; Unary +

-1 30,6 var2 ladoe b cuwl plyy Varl varl = -var2; Unary -

5108 (50 adLsI T @ b oS ojusio jl 1) 1 lade oySlac ¢pl . diwmd Ginlidl g (oS (sb)Slac JavaScript glo,Slac ;505

D39 (50 odlatiwl W ddl> )5 el o pasio ¢l

Aoy Jlio iwd ySlac
1 ogMey var2 b cuwl ply varl jlaibe varl = ++var2; Unary ++
1 Gleio var2 b cuwl ply varl jlade varl = --var2; Unary --

var2 b cwl ply varl jlibe

varl = var2++; Unary ++
39 (50 a8Lo] dzlg S var2 juie @

var2 b cwl plp varl )lado
varl = var2--; Unary -
394 (50 @S A=l S var2 s
U by inlidl Bl var2 ysie 5l 8 \Slac 51,513 550 Oluslowe dzis )3 Slac (655)h8 Joro 45 3l dibls dogl iS5 (ol 4
L Uilidl var2 ueie Guaw g 394 (50 Var2 plyp varl lampl .\.:),& Hh8 var2 ,uie jl aey > ,Slac azsliz. 28l (e §lasl varl

S 429l pj gle JUe 4 .00 0 pRel

X = 0;

y =1

X = ++y;
console.log("x = ", Xx);
console.log("y = ", y);

X = 2
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y =2

X = 0;

y =1;

X = --y;
console.log("x = ", X);
console.log("y = ", y);

So L g Sy jl amlg Sy laml aS 394 (50 Cucl y Jiglac 51 Ju8 ++ g - (slo,Slac 23S (50 63Like YU JLis 933 a5 jghilan

S dzgi 1) JUie 93 4 Jlo 3,050 51,8 X Siglac ;3 doea Gwaw 9 39 dBLbdl Y @ aslg

X = 0;

y = 1;

X =Yy--5
console.log("x = ", x);
console.log("y = ", y);

X = 0;

y = 1;

X = y++;

console.log("x = ", X);
console.log("y = ", y);

X yasio J515 53y jlaie 1ai] 45 394 (50 Caclh y Miglac jl a2y ++ g — (slo,Slac 253345 (50 83 lie YU JUio 93 )3 a5 jghilas

0Ly sl Slac 3ySlac 6920 doliy o sloyl b pwlgise Jlo .39 a8Lal (T 4 3zlg SH b g S Y 1 Azl SO Guaw 9 3,50 1,8

D a5 0L |y eanySallgls s

//Variable declarations
var numl, num2;
var msgl, msg2;

//Assign test values
numl = 5;
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7 num2 = 3;

9 //Demonstrate use of mathematical operators

10 console.log("The sum of", numl, "and", num2, "is", (numl + num2));

11 console.log("The difference of", numl, "and", num2, "is", (numl, num2));

12 console.log("The product of", numl, "and", num2, "is", (numl * num2));

13 console.log("The quotient of", numl, "and", num2, "is", (numl / num2).toPrecision(2));
14 console.log("The remainder of", numl, "divided by", num2, "is", (numl % num2));
15 console.log("The result of", numl, "powered by", num2, "is", (numl ** num2));
16

17 //Demonstrate concatenation on strings using the + operator

18 msgl = "Hello ";

19 msg2 = "World!";

20  console.log(msgl + msg2);

The sum of 5 and 3 is 8.
The difference of 5 and 3 is 2.
The product of 5 and 3 is 15.

The quotient of 5 and 3 is 1.67.

The remainder of 5 divided by 3 is 2
The result of 5 powered by 3 is 125
Hello World!

Ao jl il @8) 93 (ol dac 1 amy (guuS pl8)l aSiul (gl 13 b3 )5 g JUo (pl )3 a0 s |y whlie o dsui YU doliyp
A5 (50 630 lie 20 b5 )5 o0 Ginlai jlikel @8) 95 U 1) dac a5 cuwlizo (b I (2l )3 2 dac . @il 63,5 aslaiwl toPrecision()
@iy “IWorld” g “Hello “ aalS 93 o3lunz (glp + Slac jl eslaswl azus . 3losss Juatie p & + Xlac dlusg 43 diddy 93 S
Gz 3 daby (29,5 51 1S Wi ) 5T )51 auS azgi aalS (gl 1 a2y IS (slodlold @ .3g) ol “IHello World”

- Vgid(0

(GSle ) (yavass gySlac

ez Craw pusio )3 1) 395 Cuwly Chaw yusie Hlade lo)Slac ¢l .31 pb il (sloySlac Javascript gloSlec jl 505 Eg5

13350 Ui |y Javascript ;s pavass ySlac Elgil i Jodo . di 350 1,8

Aoy Jlio Slac

var2 )ladoe b cawl ply varl jlase varl = var2; =

var2 g varl gez> Jol> b cwl ply varl )jlabe varl += var2; =
var2 g varl §)s5 Juols> L cuwl ply varl jlado varl -= var2; =

var2 ,svarl oo Juol> b cwl ply varl jlase varl *= var2; * =
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var2 pvarl puds Jol> b cwl plyp varl jlase varl /= var2; /=

var2 y varl guds 6358l b cuwl plyp varl jlago varl %= var2; %=

Wio .l A5 )3 Lung AoV Eg5 ) gblg ) 1o Slac Egi ¢yl jl e3laiwl .3)S asliiuwl lgi0 jub didy 93 Jlasl gl += Slac jI

A0 Wi |) 395 (phS (Hiloj mgdS Clls (il LAbbe varl = varl + var2 wyge ¢ varl += var2 a5 Lol Jsio
12550 v W yuie o ) lQ)T)ui) 9 (wawazi gl Slac jl osliiwl S5952 y1j delip bl (HVgb Lo pusio pb a5

var number;

console.log("Assigning 1@ to number...");
number = 10;
console.log("Number =

, humber);

console.log("Adding 10 to number...");
number += 10;

console.log("Number = ", number);
console.log("Subtracting 10 from number...");
number -= 10;

console.log("Number = ", number);

Assigning 10 to number...
Number = 10
Adding 10 to number...

Number = 20
Subtracting 10 from number...
Number = 10

Ll 034 0313 polais! T 4 = Slac jl eslaiwl b 10 jlaio g jusie Sy 13l .l 634 o3liiwl (pauazs Slac 3 jl doby ;>

Ll 0aib @S T 5110 dac -= Slac dlung @3 ,5T 53 g .l 0345 a8l 10 Hlade += Slac jl eslaiwl b T & Guus

Sl amlio Lglm)ﬂoc

aoui )51 oySlac opl sl (ko) (Jor )ldie SO Hdlie (ol doui L3950 63ldiwl ydlie duwslio (gl (glawslis (glo)Slac ;I

J9ee j9b @ b )Slac ¢l .aid3 0 Ui |y False jlado 3ol bkl duglie asuid )31 g true jlade abb Cuwys jl3ie 93 dulie
23 Glamlio gloySlec ) J9az Nigdise by Hgiwd @893 b aelsl Cacly &5 Ga)S il @ W9)50 ) @ by ©hgiws )
1a 0 oliv |y Javascript

Wygail jae 5> ABL plp var3 lade L var2 jlade a5 cwl true J)go > varl
varl = var2 == var3 =

cwl false
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Oyganl jue )d Wbl plp var3 jlade L var2 jlase a5 ¢l true 9o > varl

Oygaigl e 53 Aab Hlade var3 jl )5S egS var2 jlade a5 cawl true S)go jd varl

Gygail e )d 3L var3 jlaiojl )55)5 var2 jlade a5 cuwl true (3)eo )> varl

€3 2l var3 )lade (goluwe b )3 S>gS var2 lade a5 cuwl true (J)go > varl

ol false w)guaiol

2 53 AL Hlaie var3 golwe b 35y var2 jlabe a5 cuwl true (J3yeo )> varl

var numl
var num2

console.
console.
console.
console.
console.
console.

10;
5;

log(numl
log(numl
log(numl
log(numl
log(numl
log(numl

+ 4+ + + + +

+ + + + + +

num2
num2
num2
num2
num2
num2

+ + + + + +

numl
numl
numl
numl
numl
numl

varl =
cwl false

varl =
cwl false

varl =
cwl false

varl =

varl =

cwl false )gail

== num2);
I= num2);
< num2);
> num2);
<= num2);
>= num2);

var2 !=

var2 <

var2 >

var2 <=

var2 >=

var3

var3

var3

var3

var3

DAL s |y L(.b)ila.c 02! 3)Slac 692 55 dolip

jloslaiwl b Guaw @350 gobaisl (gdlie LT 43 g 63,5 dlayl |y @S dunlio p b padlg>(0 45 |y ju2ie 93 lail YU JUio jd

== Slac jl o 93 dulio plKio 45 1S dzgl diSS (Rl G .EuS (50 Wl | A § 03)S dulio p U ) LT (glawolie Slac

Nlac 30350 polaisl X 43 )3 1) y jlade x

y 3ile (3)lue 53 9 Gl (pavass Slac = Slac .39 osliiwl LU = Slac (gls @

Y. b Cwl ply X 3950 035lg5 jghisl g X==y ile 1S (50 aunlie @ b I jlade 93 a5 Cuwl (Glawylio )Slac ==
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L,.ﬁ.h.iaotslb)il.cc

odazy s byﬁ)tsl)ggdél Lm)ila.c ol ol (Jgo )lade S G0 @T%ﬁgwwwumwl)hcsg)ﬂu&bpsb)ﬁac

92 130 93 var3 g var2 45 S (6,8 .3l true b false 3ilgs (50 (Jor pdlio 3xi8)S b Wi a5 johila .3gdb (50 03kl

Jue e Slac
varl = var2 && var3; AND (,dbio &&
varl = var2 || var3; OR (sihio [

varl = lvaril; NOT sikio !
AND(8&) (sikise SXlac

5T 69 @ b pslie 1 (550,51 Wyganl jug 5> 251,5 Iy true ;lago AND Slac AL true AND Xlac B,b g3 yalio )1
Wl 593 )@ b polie ypail p ) e rh ) ) 9> 2

D Canl 034b 031> (L AND JSlac (iwyd Jgdz pj 3 .3513,S (50 p |y False jlaie sl false

X Y X && Y
true true true
true false false

false true false
false false false

OLdylade diglac 93 o a5 Ao (0 i |y true )lade ()90 ;> hidd Slac ¢l 45 @S (50 (597 3 AND Xlac 50 yigs )5 (gl

aunylio (gloySlac | 63likwl 3i5le AND Slac jl o3litim] .04 3olg> False (g (sl Sy plad ds sygmaigl jué )d bl true

. 2L 1000 | ,iS>gS salary g 18 ;1,5 (age) gw S| cuwl (true) cunyd pj o)le doui Jlio ¢lgic 4 .l (gl

result = (age > 18) & (salary < 1000);

2 X &S Gl (gimo (A 10 <= X <= 100 &)lic Wis .l )15 gy dlacl | (ool 3940 U Lo a5 sl 30l)S (53loj AND Slac

) ©yg0 43 AND (ikio Blac 51 (ylg5 (50 639350 (¢l )& dlacl ol gl Jl= .\)J.i: 1) 100 U5 10 slacl Joli (g)lado A5lg5

. 35S olasiwl
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inRange = (number <= 10) && (number >= 100);

OR(|[) (sikio yShac

22 93 OR Slac (5iwwyd Jgaz . 35153 (50 p |y true jlade OR Slac bl (true) cuwyd OR Xlac Byb 93 lade 93 0 b S )51

Dl 63 631> (ylaws

X Y X ||y
true true true
true false true

false true true
false false false

23 1y 2y 35 .asl false T Wyb g3 pslio a5 113,550 p |) False )lade (5)g0 y3 OR Slac a5 345 (50 03lio YU Jgaz )3

2l 0y b b 75 51 485 (FinalGrade) jgel Ly (lgh ad)y a5 Cawl (true) Cuwyd (oo 3 35 ol aoui .09, b

.\wb 100 OT OL’>.'L0|

isPassed = (finalGrade >= 75) || (finalExam == 100);

NOT(!) (sikio ySlac

2Waol b jlade G Slac ¢l )15 jli Viglae G @ bid g cunl (5 )Slac S NOT (Libis )Slac AND g OR )gilpl 93 M5y,

NOT )gilpl 3,Slac 3 Jgdo .35 (50 true T b false )51 g false [T il true jlade b esjle )51 Mo . A (o 585 |) (o

DA (o i )
X X
true false
false true

205 18 (golune by x5y (pwage (a5 Cuwl Cuwyd ()90 53 ) AS doui

isMinor = !(age >= 18);
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i (L) Slac

Ladb 45 dgids0 dwogs uyd ol yigr S5 (gl .3 (6)iwd |y osly Elgil (6l JSuib 45 3350 o)l Llash 4 (Siw lo)Slac

P30S0 3L 5 S (b @ oA dlacl o 097 9 (5l s
http://www.w3-farsi.com/?p=5698

09y CAll> 31> L (gl . idg) bl bgels b juz 1o Caumidg iS50 edliiwl () jI YiguelS 45 ((29999) (1L pliww >
2L sl 36ab SO b yauo 3ilgise ks (b slacl ¢plplo 3950 63latiw] B dac jI gl cdls (53l (i (gl 9 1 dac jl
0353 (i b o g Cunl (6l @8y S 633 ¢l Caw o 365 (50 10 (glie y3 slacl |y (gylixel slacl g 2 (gliuo 43 slacl |,
slacl a5 cunline (39 ol qayld jL T 0053 (6l Lad cub 4 b ew 32 ¢ int Egi jl asld SG gl Jlie gloic 4 .l i 8
W yigaaolS )3 2950 0)u>d ANt £ 1 jukie ) ylgic B (589 100 dac Ui (gl 2SS0 oslatiwl 05155 (gl 19 0 @8y 32 51

P 3gdse 03lg ) )90
000000000000000000000000000001100100

9 Cawl 2 (gliwo 53 100 diac 020> (ylin Cuwly Caow @8) 7 lxial ) .l 2 (glise )5 1100100 >ic Jsleo 65 (gluo 5> 100 duc
Craw 1 (6l dlacl a5 3uS dogl diSS ol 4 .3yl 5L int Egi 5l dac a5 Cuwl (o Cw 93)5 p lp e Cuw oyho ile

Bl 831> Hlis pj Joaz 5> Javascript Liw loySlac . 3950 635195 Lz @) Cuwl,

Jue e Slac

X =y & z; AND (i &
x=y | z; OR iw I
X =y Az XOR (55w A
X = ~y; NOT (;iw ~

X &= y; AND Assignment (jiu &=

X |=y; OR Assignment (jiv |=

X A=y XOR Assignment (jiu N=
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AND (&) (i ySlac

ol Gyb 93 p3lie S1.355 50,15 Leiw (59 »2 ySlac ¢l a5 Csglas (pl b 33,0 plos] AND (ilie )Slac dudd ()15 AND (iw ,Slac

25 93 AND (i jSae (5ia)3 J9az 351,50 2 |y o yladie 3l o ()T Byb 93 50 b 50 )51 9 131350 » 1) 1 )lade 2L 1

: Cawl 0301
X Y X AND Y
1 1 1
1 0 0
0 1 0
0 0 (7]

t Cunl 03501 AND (i ;Slac jl 03laiuwl 6955 3 53

var result = 5 & 3;

console.log(result);

)9z &5 i 3o 65l L3950 Sy 33e 3 9 5 lade 93 (59; y AND JSlac 3,Slac dsui iS50 03 live YU JUie 43 45 jghilan

1000 Cuwd @ ) doui ol

5: 00000000000000000000000000000101
3: 00000000000000000000000000000011

1: ©00000000000000000000000000000001

©lein oS 2 Gl yaio jl sl ay (Int) 32 zusuo dac o aSuledl jla5gd 0 Jaaud gyl Joleo 433 g 5 dae g3 lail

L3950 SO dac doul [y a5 duagd lgise AND (i ySlac (i) Jgdo jl edlisiwl b .auiS (50 e3liiw! (JI>

OR(|) iw ySkac

030l y3j 53 Slac ¢l iwyd Jgdo .0 Iolgs 1 &jgainl jué 53 o douib Jubl oo 93 3 OR iw Slac Byb 93 pslio )51

T Gl

X Y X ORY
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1 1 1
1 (4] 1
(4] 1 1
() Q 0

2lgs Sy doui 3ib Sy Bglac 93 51 (S0 kb HS1.358L yauo ¢ WByb 93 (gloiglac 4S Cuwl a0 (5590 53 OR (i Slac oD
DS azgi ) JUe 4.2
var result = 7 | 9;

console.log(result);

Az ol 2 a5 @S0 () Lo 39d(0 15 axusd iS50 63l (9 9 7) YU Jlin )3 )lado 93 (slp OR (siw ySlac jl a5 (389

Tewl 80T Cuwd @

7: 00000000000000000000000000VVV111
9: 00000000000000000000000000001001

15: 00000000000V OVVVVYRRRRVVV1111

2umuo 15 53 Jal=e (6L 1111 sac .31y Hausis |y Slac ol jl esliswl dxis ¢lgizo OR (iw Slac (iw)d Jodz jl esliiwl b

Gl

XOR(") (i ySlac

sl 0301 3y 5 Slac (pl (iw)d Jod

X Y X XOR Y
1 1 0
1 0 1
Q 1 1
Q 9 0

225 JUe 53 39450 S a2l @il juf )3 H00 A AbL ) 93,0 L b0 93,0 )Slac (ul Byb 93 G aiglac aS)g0 5>

D AiS (50 030l Hlade 93 (69) 0 |y XOR (Siw S Qc)p"’u

var result =5 ~ 7;
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console.log(result);
ol 0345 0315 (L (7 9 5) YU slael (b Jaleo 15>

5: 00000000000000000000000000000101
7: 00000000000000000000000000000111

2: 000000000000000000000A0000000010
$39i(50 2 33e azxh b & 3aagd lgise XOR (i yllee (iw)s J93z @2 93,5 655 L

NOT (~) i ySloc

twl 030l YSlac ¢l iy Joaz p35 53 .31 jLs Wglac Sy @ bid g cunl (S5 ae S HSoc (ol

X NOT X
1 0
0 1

: cunl 020l JSlac ¢l jl sl (S5952 15 5 . AiS (50 (WS | lotiw pdlie NOT (i Xlac

var result = ~7;

console.log(result);
< Anled dzgi el 634 0315 (LG yj )> a5 YL JUie ()b il @

7: 00000000000000000000000000000111

-8: 11111111111111111111111111111060

(shift) Ko juuss (s ySlac

45>)I>>9:?90IS.0),5,§3L,1£)§.L4;59393.A,§35L?dgl;?uwl)L,g%wa)L@ggdSmsuaojL?lngm)ﬁueywl
G (2l wlz dlaes Culy Caw Miglac g jlade SO (5L il oySlac ¢l s Craw Wglac 4S50 Joib Aiglac 93 pliS o

1330 i |y
Jie oL Slac
X =y << 2; G2 Law 4 8o s >>

X =y > 2; Cawly Craw 4 (S0 s <<
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A2 o @) (90 puusts JSlac

Olgic 4355 e Jiike Lazr Ciaw 4 cuwly Cuaww glac awgs 634b Lasuive (Ko N 313w @ 1) iz Cauw Miglac (gloin }Slac ¢l

: Jlo

var result = 10 << 2;

console.log(result);

4

‘

b aaiS |y JWSI ol 5l anly Jlo @les)S Jiitie waz caw @1 5150 93 1) 10 )lado (glocaw Lo YU Jlio )>

10: 0000000000000V RRRVVV1010

40: 0000000000000V C0000101000

S50 @S LAz Chow (W80 jl yao 93 JWEDI (ol 5> . 5loddds Jdiio taz Chaw 4) 3lg 93 651351 W Loty dad 45 3iS (50 632 Wi

<3950 A8LS| Cuwly Chaw 4 yhi0 93 yo9e jd g

Caly Craw 4 (580 yau2i )Slac
,JLmU|9,Lc<U.\.ASL,AL'>4Jbwl)umud.)I)medSu9LoJuJ|bwu|wumudJUlS.o).am)iA£ow)ﬂuu_»l

var result = 100 >> 4;

console.log(result);

).uL AL ojla] iS50 Lo @ > ez Chaw @) A2lg 4 651051 @ 1) 100 Hlade (glocun cawl) Craw 4 (5o )—'-*9-’)—3“5)' odladiuwl b
P a3 )8 w)p 390 L (Rl @ > ol

100: 0000V 1100100

6: 00000000000000000000000000000110

VLA x> Chow @ 00 Hlgz g 614 Wi Cawly Cuaw Jol i 4 (plplo g e Jiiie Cauwl) Crow 4 azlg 4 651051 4 e o

<3950
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lb)il.oc PRCES

CaySawllgls 5> L(b)iln..c S Jlocl ) U»)J|)§.Ln.c E13S 1l 345)15 Bglac 93 51 Hinw a5 (Sluslzo 53 a5 S0 Yadwiv L(b)iln..c PREE)

: dbe loic @) Mwd pad5 G2 (ghd Sluslew o
var number =1 + 2 * 3 / 1;

9 3%3=9 uaw 14+2=3) 3 Idlgs 9 doui padd plodl Cusly 4 Caz cuaw jl 1) YU Ojlie g @SS el |y Lm)iln.cla.).ﬁjéblo)fl
G285 9 @Az 4 Caund @amdd g Opb Jac Jlio (glp 4030 plaol 1) Glusloe W)Slac 0385 4) azg5 b HLLwlS Lol .(9/1=9 45T )5
33e 5T )3 0Toe Cawd 4 6 o) a5 dgds0e 1y pawdd 3T doud Gmaw 9 3 5000 2 dac 1l §gd JUio )3 ¢palpliy .35)l> 03b5

: Gl 030 CanpSallgle (o) Slac jI (55 EAET pj J9d= )3 .3gd 50 Jol> 7 dac g dgid0 a1 L 6

Slac Gy Sy coglgl
0 Cawly & Gzl Caglgl i

[] Cwly 4zl 1
Cawly 4 w)l 1

++ o @ Cwl) jl 2

- o 4 Cwl) 5l 2

- e G Cwl) jl 2

| w2 U Cwl) 2

~ e v cwl) jl 2
delete 2 O Cwl) jl 2
new w2 o Cwl) 2
typeof w2 @ Cwl) i 2
void w2 O Cwl)jl 2

/ Casly 4 a2 3
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* Cawly 4 caz 3

% C;unl)d.gg;g%jl 3

+ Cunl) 4 Gzl 4

+ ) 4 Gzl 4

- Cwl) 4 izl 4

>> Gl 4zl 5

<< Cwly 4 5

>, >= Cuwly 4 sl 6

<, <= wl)q%)‘l 6

== Cwly 4zl 7

1= Cwl) 4 izl 7

=== Cuwly 4 ot 5 7

== Cuwly 4wzl 7

& Cunly © 8

N Cwl) 4 izl 9

I Cawnly 4 ozl 10

8& Cwly 4 i 11

I Canly 4 izl 12

?: Cly 4zl 13

= W @ Cwl) jl 14

*=, /=, %=, +=,, -=, <<=, >>=, >>>=, &=, "=, |= wd"‘wb)l 14

s Cwly 4zl Caglgl (pyias
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PIES oS 0S4z iS5 (ol @ 3518550 5T Sluslxe )3 PAET G2 GSORL L 6le)Slas Guw 9 VL b slo)Slac lai]

: Jlie ploic @ (3L Wglac Cuwly b taz Cuaw 5d) 31> G LT SrS)S e 4 — g ++ > ,Slac

var number = 3;

var numberl = 3 + ++number; //results to 7
var number2 = 3 + number++; //results to 7

U § 39d (50 4 g 03dh adLs] amlg S number lado @ 1l o+ HXlac 4 Caws ++ Slac YL pads Jud 4 YU Syl 93,0 53
5T )3 &5 (Sbwlze plzol g )Slac 0385 )5 (RLlgS sloul (gl . 2T(0 Cawd 4 7 33c ol )3 9 390 gaz 3 33c b 13> jlade

D S0 odlaiwl 35l 5l 39 s0 e3laiwl (630 (sl Slac ;I
var number = (1 +2 ) * (3/4)%(5-(6*7));

05 551 a9 0345 7 5390 6 )30 (%) 3550 )18 awmslons 90 0l TGS Hlate lail &)lie ¢l 5> S 4295 s )18
Uiyl 390 3T50 Wylie (glail )3 oS |y b Slac jI pl3S jo 1L 13D] JBL 39590 Sy pIET G= b Slac Jiz b 93 )51 .59d 50

JUe plgic 4 300318
var number = 3 * 2 + 8 / 4;

ly 3 130l ey .33 5T Olunloe )3 1) LT cal) @ izl 0L i ol plo diiwd (HaSy 385 G2 ghls / g * Slec 93 ,0

<50 )1y number yu2io )3 g 63,5 gaz 1) jle 93 Aol Caled jd L AuS (50 pawidi 4 1) 8 dae Guaw § iS50 2 000
5l 18,5
28 3163959 09

POpUP )z S (b ol Cuch Yo oyl 3350 Hh8 Lads jLasl )5 )5 51 (639)9 5385 (sl |y ()prompt vie JavaScript
Giloj B 4S50 bl g dalyy Joumo 53 Ladd oS |y (loiS1HIS plad g 3)135 (Lo Ladb jLis] )d (e dues S oymiy (ol .39 (50

DS azgi ) Aol 4 . XlgSp0 dwijse |) Enter aeaSy a5

1 var name = prompt("Enter your name : ");
2 var age = prompt("Enter your age : ");
3 var height = prompt("Enter your height: ");
4

5 console.log("Your name is ", name);

6 console.log("Your age is ", age);

7

console.log("Your height is : ", height);



g 4ol (sleil; Gbjgel colw w3-farsi.com

38

P 51 9 39 (-0 U5 Popup oy 4oy shal L .(3 92 9 1 bghs) auS(se Wiyl doaliy )3 8315 8,u53 (gl | jusie 3 labl

(1 k3) 1S 35l 1y 395 U oS 3olgs>(50

o[ 5 [ |
') index.html b +
X @ File | Difindexhtml O

This page says

Enter your name :

John o

2 0K Cancel
[w ﬂ Elements Console Sources MNetwork Performance Memory » x
™ ® | top ¥ | @ | Filter Default levels ¥ o
>
. - . £ . . o - . NG
(3 k3) BSe Jlaw |y Lo 5l g 6240 yoU5 6=y 6)Lgd OK daS> (435 b
=E)
™ indexhtml ® +
X @ File | Dyindex.html T O

This page says

Enter your age :

oy "

2 0K Cancel

[w ﬂ Elements  Console  Sources Network Performance Memory » x
[ ® | top ¥ | @ | Filter Default levels ¥ o
>

135 3l ) BAS a5 aolgs (50 Ledd jl g 034 oW 0y=xiy 6)Lgd ‘p*iStS..{JSOKdAS)(SS)).‘))ﬂ
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o o ST
C, index.htm x +
¥ @ File | D:findexhtml * 6

This page says

Enter your height:

160.5 o

2 0K Cancel

[w ﬂ Elements  Console  Sources Network Performance Memory » x
I top r ®© Filter Default levelzs T o
>

1394 (50 0313 Hinlel Console cuamd )3 35 (ghal (lgd azyis OK daS> (435 5l A=

=[5 [ |
@ indexhtm x +
@ @ File | Dy/indexhtml #r O

[w ﬂ Elements  Console  Sources Network Performance Memory HE 4
P ® | top AR CJ Filter Default levels ™

Your name is :  John

Your age is : 18 h

Your height is : 168.5
>

L (50 2ubgs LT 3)50 53 00T (Gl (Jw)d )3 45 wumd 315,05 51 (639)9 38)S (slp (6,525 (s ie (ghyl> JavaScript aull
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'n| il' 'l| 'ni °-| 'l| o

3aloyd (323 5235 S i )3 sl Huig Sl LS b i

https://bit.ly/2Is8a0t

www.w3-farsi.com/product

aasas gl lislw

frauci )lid Lo (gh13 doliyy Sy & 3455 505 Lo 33 (0 ytakae baylyds )3 1y 35 (2] ol Ladb 43 unsg dobiyy (slgils dam Lyss
1ol Lads 45 35 459 (I A Cumnlio ammivo ) plian S Ll (gl haid LS > (I S hal |) LS 40w g 3l (S
sl ol) Javascript .k wolg> azlge JSihe b ey ol 39i @l plin S puw DL Pl 33e SO L e S laiie S|
DA oles Ll yj e b ko gl )3 30 (50 Gl OUSKe E95 (] &) (sl (saLizxe

if jgiw> e

if.else )giw> o

U aw Slos o

6By if jguws o

95> 98 if jgiws @

Gihie glo)Slac o

switch jgiw> o



ol CapSallgl> (L) (3lo

i'F)9.’i.w.)
if jgiwd L3S adlol 395 aoliy @) Ghin Sy d9d50 35 O Sl Caelb a5 Jols b S g if g jl eslatiwl b ylgise
Dl i Oygo 4 1 Hgiwd Hlshe 03 plsdl | suse A5 Cunl )L (b )51 09550 4eby a5 Cuwl (b b Hgiws ()56

if (condition)

{
}

code to execute;

Oylie SO by gm0 Lol A5 Guaw AL Cunyd iy abb Hh8y by (ST .09d 0 (o) byd 1Dl 1 jgiws gl 51 Jud

8920 @ 5055 a5 3o o5l 15T sdlatiwl by ()39 sl b caw)d s (gl (glamlio (gl Slac 5l lgise sl (glamslio
920 D P 2043 0)l2 2 OSFR ) SR s s IolPse s

L2350 Uinlad amduo )3 AbL y355)5 10 ;1 number jlaie )31

//Declare a variable and set it a value less than 10
var number = 5;

1

2

3

4 //If the value of number is less than 10
5 if (number < 10)

6 console.log("Hello World.");

7
8

//Change the value of a number to a value which
9 // is greater than 10
10 number = 15;

12 //If the value of number is greater than 10
13 if (number > 10)
14 console.log("Goodbye World.");

Hello World.

Goodbye World.

40Uy pawy 50 5 b3 )5 if )giwd (gl 4 89 .l 834 8315 Holais! ()T 4 5 jlade g Layyel number ol b jusio Sy 2 b5 >

cCawl 10 51 538295 5 iy Cawl yiaS 10 ;1 number lade 45 330 Housis
3950 ol Hello World pley o (6 b3) 3Se ol | joiws 1f jgiwd (plplns 3bb e Cunyd duwglio o a5 Cunl ibio
10 L 1) number jlado aolipy musys0 13 b )3 if jgiwd (uegd @ (89 (10 L3) w0 Huss 15 @ |, number )lads Jl>
G5 ol 0 .(14 b5) AS,0 ol |y Goodbye World pléw deby cunl 55,5 10 51 15 iey number jlade (g2 9 iS50 duwglio

if (number > 10) console.log("Goodbye World.");
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odlaiw] lygiws (gleil g 1l (31> Ui (gl VST Sy j1 a5 CamndlS . dumygiy 1 jgiwd J15 )3 |y jgiws (i 15lg5 50 Ladd
D Cwl i g0 G 1F B JB15 ) Hgiwd diz Lyl 095 A 1 )giwd A3 j2 VST (o J31s Wlygiwd deo . 3uiS

if (condition)

{
statementl;
statement2;
statementN;
}

2 03l Jlio SO o (ol

var x = 11;
if (x > 10)
{

console.log("x is greater than 10.");
console.log("This is still part of the if statement.");

)JtS))J 10 5l X ylaio 9 @S Wiz 1) SYgST Jlio (ylgic 4.3)§| Jio dgie wlz plew 93 il FS)3 10 51 X jlade )gl YL JUs >
125 A8 ailo el
var x = 5;
if (x > 10)

console.log("x is greater than 10.");
console.log("This is still part of the if statement.");

eIAS) dlols Gligin g &5 dgise 03l yig ()9 )3 YU A5

if (x > 19)
console.log("x is greater than 10.");

console.log("This is still part of the if statement.");

10 1 X ;lade a5 @laidliS ol p 1y (6,8 Lo (o2 &5 Cuwlzisl . 1F jgiwd jo Vb Jlio )3 )3T b (iny 093 jgiwd &5 L0
3929 Capad] Az )3 g0 ol This is still part of the if statement. (Really?)ks juy cwl )5Sz
3855 ol 4y VST Sy o (sl Aalsls F 5y )3 ygians S 1aid )31 (o> diisod> (2ya3 plgic @ Sgize pouio SVgST

A Hgiwd 3y90 53 ;%05 (Jlie LA (0 Catww |y T (8L g 634 Uad (3l 3929 & Cucl SVgST S (is1a51 @l 5 a5

1 var firstNumber;
2 var secondNumb ;
3
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4 firstNumber = parseInt(prompt("Enter a number: "));
5 secondNumber = parselInt(prompt("Enter another number: "));
6

7 if (firstNumber == secondNumber)

8 {

9 console.log(firstNumber + "==" + secondNumber);
10 }

11 if (firstNumber != secondNumber)

12 {

13 console.log(firstNumber + "!=" + secondNumber);
14 }

15 if (firstNumber < secondNumber)

16 {

17 console.log(firstNumber + "< " + secondNumber);
18 }
19 if (firstNumber > secondNumber)
20 {
21 console.log(firstNumber + "> " + secondNumber);
22}
23 if (firstNumber <= secondNumber)
24 {
25 console.log(firstNumber + "<=" + secondNumber);
26 }
27 if (firstNumber >= secondNumber)
28 {
29 console.log(firstNumber + ">=" + secondNumber);
30 }

B 5 639)9 ploic G 1) Bgd dunlio @ b Cuwl L8 a5 33c 93 1l . @iled,S edlisiwl if jguwd > (glawlio lo,Slac jl Lo
oslainl b 1) LT by g caaol iy Eg9 51 prompt () e hawgs 034 438)5 (5l (639)9 97 45 35 4293 .(5 9 4 bghs) @pS(50
Unled Ladds (gly 15 ©)90 @ (gl oy dolip (gl b L3940 plool )5 casl) dunlio ;15 U @uiS Jaaus (g33c Eg5 4y parseInt () o jl

1394 (50 031>

This page says
Enter a number:

5
<

0 0313 Ginlad 35 a0 4 S0 (gl ymiy OK daSs (535 b .@udd (50 jLiid |y OK daS> Guus g didigh |y 2 3ac 004 jb oy 5>

1394
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This page says
Enter another number

5

139 (50 6315 Ginlad JowiS boamo )3 i W)go 4y doui OK daS (935 9 5 33c (93)S 3)lg jl =y 515 6y 2l )

031> (g yuie S S5 )3 1) @ylie SO dsu 3619350 lad ¢yl ply Qi (Joy ydlie lgh i a5 Al aidld dzgi aiSS ol v
2o )d Oylie Jols Guaw 3L 2000 ply year jlade (S1.auS eslasiwl if jgiwd ;3 byb ylgic & jusie I Guw g 3uS
Caw)d paio Hlado olgs 3,5 odlatiwl if jgiwd Ga (phal 35 Gausis gy o jl plgise D90 6)u>> isNewMillenium

ROWINTPRVAR

var isNewMillenium = 2000;
Boolean(isNewMillenium);

if (isNewMillenium)

{
}

console.log("Happy New Millenium!");

if..else 950

STawlgiy lad o5 loj Lol .39 plaxs] (ol )5 391 )85 Gl )51 iy 3950 )5 @ pol& > S gh2l (gl Lbiid 1F jgiws
if else jgiwd jlisbo .3uS osliinwl if else jgiwd jl b 39 Ll 505 Hgund 395 )18, ST g Hgiwd SO A )8 ols by

T Gl 03T y3j 5

if (condition)
{

}

else

{
}

code to execute if condition is true;

code to execute if condition is false;



45 CapSallgl> (L) (3lo

9 if 53 J515 )3 (hol 85 S hid )51 .39 63,5 & if b 2L iz aSb 3)S sslatiwl (i @ ¢lgie else gauls aals ;I
CawydU 1F jgiwd J21> byid a5 g0 ol ()00 j> hid else Soly J5I5 a5 .l (gLl SYgST ;1 oslatiwl 31> else iy

<l 030l if.else jgiuwd jl edliiuwl 6920 p3j 55 . Abb

1 var number = 5;

2

3 //Test the condition

4 if (number < 10)

5 {

6 console.log("The number is less than 10.");
7}

8 else

9 |

10 console.log("The number is either greater than or equal to 10.");
1}

13 //Modify value of number
14  number = 15;

16 //Repeat the test to yield a different result
17 if (number < 10)

18 {

19 console.log("The number is less than 10.");

20 }

21 else

22 {

23 console.log("The number is either greater than or equal to 10.");
24 '}

The number is less than 10.

The number is either greater than or equal to 1@.

092 9 ¥ b Cuwl yiaS 10 5l number yusio jlade LT 45 @US (0 Cand 4 b3 5 g @163)S Layy=i NUMber b 4 juio S 1 b3 )

@ i 10 51,3855 ()lade @ g padd Huss 1) number lade (51 g (6 k5) dgd0 Iyl i Sgl J515 S asui )3 Cawl yiaS

else (g3ulS dalS ,5T ) 3yl if Soly aile .(23 b5) dgd 40 Iyl else Sgly J51s 35 g (17 bs) 39450 Cawydl by (14 bs)

.39 a8La! (JgSaou
sl 00T JSlac (pl 5l 05liiusl 0955 1) )3 .3 (50 Jac if..else by jgiwd sl CanySwllgls )5 (?:1) Gbyb Slac
<condition> ? <result if true> : <result if false>

c@u3 5h8 w390 Aol J515 55 1) Slac (] o3liiwl 6955 45 33 65lml L 3Bb CuwydU by 45 (Sloj
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var petl = "puppy";
var pet2 = "kitten";

var typel;
var type2;
typel = (petl == "puppy" ) ? "dog" "cat";
type2 = (pet2 == "kitten") ? "cat" : "dog";

console.log(typel);
console.log(type2);

dog
cat

U PUPpPY b plp petl jlade )31 :3gd 0 dazyi y15 Gyoo 1 6 b 3350 i |y (b Slac ¢l 1 eslasiwl 69z YU doliy
pet2 laie )51 :3gd50 damys pj Oygo 4 7 b e )5 typel ) cat jlabe wygo cpl jue )3 630 )5 typel s |y dog jlaie

e

if (petl == "puppy")
typel = "dog";
else
typel = "cat";

239750 (b |y doliyy (Ules (yo2 1SS elatwl by Slac 51 33yl else b if Soby SO Y513 )3 )Hgiws iz o5 LolKio
GBas if Hgiws
@ |y if Ohginwd ol a5 cunl yig 9 S dlaiwl 1f jgiwd (paiz jl 3lgise TauS e Iz 23S oy |) by Lz Lwlgsy )51

DAngh pj Oy

if (condition)

{
code to execute;
¥
else
{
if (condition)
{
code to execute;
¥
else
{
if (condition)
{
code to execute;
}
else
{

code to execute;
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T3S yieskw 1) YU S 2wlgise L dawngiy else Sgb S5 53 (X)) o5 W)ygo @ |y Glgiuws Cul yigr .Cuwl s Vb 35 (1>

if (condition)

{

code to execute;
}
else if (condition)
{

code to execute;
¥
else if (condition)
{

code to execute;
}
else
{

code to execute;
}

i Gl dimolg i jgiwd @ jui else if c else aiile a5 a6l b 38,5 sb |y else if jgiwd jl sddtiwl 69 a5 Jlo
S1g.39d,0 lyol (gam else if jgiwd 1oL oluiisl else if 51 Jl> abb oluidsl 1 jgiwd (gl a5 3950 ol (89 else if
D Aod0 gl | if else)giw jl oslaswl 0920 y3j deliy 390 ol else jgiws Calgd 53 g Lol 56 T

var choice;

console.log("What's your favorite color?");
console.log("[1] Black");

console.log("[2] White");
console.log("[3] Blue");
console.log("[4] Red");
console.log("[5] Yellown");

choice = parseInt(prompt("Enter your choice: "))

if (choice == 1)

¢ console.log("You might like my black t-shirt.");

else if (choice == 2)

¢ console.log("You might be a clean and tidy person.");
ilse if (choice == 3)

¢ console.log("You might be sad today.");

ilse if (choice == 4)

console.log("You might be inlove right now.");

else if (choice == 5)
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{
console.log("Lemon might be your favorite fruit.");
}
else
{
console.log("Sorry, your favorite color is not in the choices above.");
}

What's your favorite color?
[1] Black

[2] White

[3] Blue

[4] Red

[5] Yellow

Enter your choice: 1
You might like my black t-shirt.

What's your favorite color?
[1] Black

[2] White

[3] Blue

[4] Red

[5] Yellow

Enter your choice: 999
Sorry, your favorite color is not in the choices above.

P 3s6 0 Ol Galixe (sleolon 3S e VLD Gz dz lad 4l G diw .Cusl Gl choice ysie & YU deby (,=9)>

23950 hol else Sgly 4 bgyyo 35wl ol gledls J515 )0 3uiS (50 ol lab a5 (gdac
93 53 o3 if )giwd

)im if )giwd J215 50 if solw Hgiuwd S5 .3y sdlatiwl CanySwllgls 5> g3 ) o3 if jgiwd jI (ylgi 0

if (condition)

{
code to execute;
if (condition)
{
code to execute;
else if (condition)
{
if (condition)
{
code to execute;
}
¥
}
else
{

if (condition)
{

code to execute;
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D olio 1) 9555 o5 i jgiwd jl edldtien] 690 a5 33 ojla]

var age;
var gender;

age = parselnt(prompt("Enter your age: "));
gender = prompt("Enter your gender (male/female): ");
if (age > 12)

if (age < 20)

if (gender == "male")
{
console.log("You are a teenage boy.");
}
else
{
console.log("You are a teenage girl.");
}
}
else
{
console.log("You are already an adult.");
}
}
else
{
console.log("You are still too young.");
}

Enter your age: 18
Enter your gender: male
You are a teenage boy.

Enter your age: 12
Enter your gender: female
You are still too young.

0345 5L 93 azyiy Yupws 9 (4 b3) pliiw 0)1)3 Ladd jl dolipy 9 03 b o)y S Tl S (LS WIS |y 4ol &5 30, ol
s 12 51 g Loy 51 sl 53 (8 103) Sanyiom 1F y3ins (] s Compan 35S om g e 31 iz 5l 5 (5 Ja5)
gdse 1f Hgiwd yuad @ bgye (26 bs) else Sgb 3)lg Wyganl jué jd dgdse if jgiwd 4L 3lg dby Aib
o3 line 1y 505 if joiwd 93 1f (gl 3y )3 . lesds if gl 3y 3)lg Lass g Gl Jlo 12 1 yidiw lad (o a5 @uiS (o,8 Jl>
028 9Ly (21 k) 2g)50 O b ybliie else Crawd @ 1L ST 9 9850 9> 1F G2 3)lg Laid AL 20 S ()51 3050
iz gl )3 (12 b5) 29di50 42190 )55 1 SO b g 0id pgd 1 2 3)lg ©)9ainl )3 AL 20 j1 yiaS Lads (o S @aiS(50
bgyye else Cuawd ygail jé 53 3950 yol 1 (puoguw 63 J515 (oS b “male” ply ,S1aS 3,550 L8 w)yy 3590 Ladd

239150 b ) by (RUlg3 (92 S sslisiuwl yiaS doliy )d 95 55 o5 if jl a5 90 Slgiiinm (16 b5) dqi 50 ol if pl @
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wikio (gl Slac ;1 63wl

22153 9 850 55 3 |y byis 95 J8las )Slac ¢l .3uS wuS)s po b ) by (piiz 45 3350 ojlal lad 4 sikio lo)Slac
: cunl el ihio o ySlac jl By 15 Jodz ) a1 50 0 |y (g )laie S

£

true olilade ,Slac )b 93 by 93 4 45 Cuwl true (3o )3 Z )laie

N
1]

(x >2) & (y < 10) And &&
.2 olgs z False jlade sl False bgyi jl So lade ks )S1 . bl

OLdylaie Slac Byb 93 by 93 51 So 45 Cusl true (o 53 Z )l3ie

Algs> zc false jlade b false liylaioe by 93 0 S| .3ib true |

(x >2) || (y<10) oOr I

false J)90 )> g Jl false by )labo a5 cuwl true ()90 )5 Z )ladeo
z = !(x >2) Not !

<Aab true by Hlade a5 cawl
PS8 X Hlade a5 Cuwl true plp 7 )lade ()go )3 1asledn ygo ppl w hz = (X > 2) && (Y < 10) dlas Jlie lgic @
Aol true jgiwd S Hlade aSiyl (glp &5 cuwlize (1 dlaz ol "cwl false wygail e ;5 3ibb 10 ;1 )5 S>eS y Hlabe g 2
ko Slac azuis .35 AND (8&) (ki Slac 4y Cawd (iglasie ;55 OR (| |) (ke )Slac .2l true by des jlaie 1L
A Aolgs False asyi abls true bgyb jl S gud Hlaie )51 g .3l true by jl S Hlade Jds )51 cusl true ply OR
36l 33,15 @ &ylie S 53 9 63,5 Sy ao L 1) OR g AND (Lihie (glo)SKlac gl 50
if ((x ==1) & ((y > 3) || z < 10)) )

//do something here

(y > 3) || (z < 10) ¢ylic Il lxipl ) .auiS 50 3liiw! Lgbydis (5300 69,5 )5 )T jl (ho2 Cunl @ge jily 1 esliswl Lyl )
Sl Jlo 3950 aunlio (X == 1) a2 b AND Slac aluwgy o a2 g (@) 8lae A5 Cale @) 305150 )8 Gy 390

if (age > 12 && age < 20)
{

1 var age;

2 var gender;

3

4 age = parseInt(prompt("Enter your age: "));

5 gender = prompt("Enter your gender (male/female): ");
6

7

8
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if (gender == "male")
{
console.log("You are a teenage boy.");
}
else
{
console.log("You are a teenage girl.");
}
}
else
{
console.log("You are not a teenager.");
}

Enter your age: 18
Enter your gender (male/female): female
You are a teenage girl.

Enter you age: 10
Enter your gender (male/female): male
You are not a teenager.

Sz ) lash gw 4by (7 b3) 3wy 0 if joiwd & S8y (7 b3) 2350 i |y AND (ihie Slac jl 63lisiwl 6925 YU aoly
J51 GoaS Gugw 30U true 93 o jlaie e (Mbb 20 9 12 (1w L) 36L 20 jl JiS2>6S g 12 1,35, Lad uw 51,3550
)y a2 Craw Jglac AND Slac .3gi 50 Iyl else Soly J51s (slosS il false boyi jl So azuid )51 .36 Iyl if Sgb
osSe . 313,550 p |y False jlade g AiS(505 (o) |y Cunly Coow Biglac (505 L False T jlaio ST . 30350 HI)8 uwyp 3950
e g 3,550 63030 |y Cuwly Caaws Jiglac Guun 3bL true ¢ oo 51 9 3350 H1)8 wyp 3590 1) iz Cuaw Jiglac || Xlac

L1350 p ) true

if (x == 2 & y == 3)

{

//Some code here
¥
if (x ==2 | y == 3)
{

//Some code here
¥

olsie 4 &5 By )Shac ol (2 ©laT .3 o3kl (in Slac lgic 4 | 9 & )Mlac jl wslgise Laid & Cunlanial pgo €S

Olsie @ 230 )L uwyp 3)90 a2 Cuaw Nglac jlade (i8)S a5 53 9 ) Wglac 93 a5 Cawl pal Big)e ) @ i HTlec

33 1y by )51 5950 (Ll AND (&) (siw ySlac dlug 41 Cazr Craw Liglac b False waz Cuaw Vglac jlade )31 s JUie

39y 3olg> yigys OR (|) g AND(&) i (sl)Slac (gl OR (| |) g AND (88) (sikio (glo,Slac jl 65lasuol S asSy5 dobiy
1345 4298 pj Jle ) M550 e b S 1) ©)lie ) azi 45 Cunl NOT (1) Slee Gihie (glo)Slac 51,505 K2

if (I(x == 2))

{

console.log("x is not equal to 2.");
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LASe True |y T ! Slac 3L false plp X == 2 &)lc dsuis S|
Switch ,giws

bl bl iz jukio SO ol Hlado @) dzgi b a5 3350 ojlal Laib @) a5 )15 d92g switch pb @ (g sl capySwllgls >
9 lodid olacl jI GHU yolio bid yuio switch jgiwd jd a5 wolas ¢l b Cuwl 93 )5 ¢5 if jgiwd Joleo switch jgiwd .auibb

: Cawl 020l switch jgiws jl oslaswl 6925 535 5> Lt juued (P a5 i (53lie Coli yslio iS50 Josb |) ysSHIS L

switch (testVar)
{

case compareVall:
code to execute if testVar == compareVall;
break;

case compareVal2:
code to execute if testVar == compareVal2;
break;

case compareValN:
code to execute if testVer == compareValN;
break;
default:
code to execute if none of the values above match the testVar;
break;

Soby J5Is case led)lc jI SO o b Hlade ol L3350 )8 cuwl testVar Y JUo )5 a5 switch uio )5 Hlade SO ol
b 3lgs Lol case (T 4 bgyye 35 gy ply case olygiwd 53 39290 ki j1 SO > L jusio Hlado )51 .39 50 awglio switch
H5ind y 45T anS eslatiuwl SYgST 51 Buls b yidw (S0 jl case jgiws J5Is oaS b slaei S| Jis a5 23S dogi aiSs ol @
ha! of jl a2y Wlygiws g 63 2yl switch jgiwd jl 4ol 3950 Cach a5 dgdi 50 8315 Hausini break (gaulS 4alS L case
0LR U o) gl case jl o o jgis (ghal @ pumbo g 39d50 azlge Las b aoly widgn @ld jl (3415 aalS ¢l )51 .59
2o j1 SO b jusio Hlade aS dgd 50 ol ()90 )3 jeiwd ol .3)ls default sy S switch jgiws 3l aolgs axlsl
@ ygiwd ¢yl (e L dibl 505 BLAS] guo d9d Wis switch 4y jl )51 g Cunl (g)liusl default jgiwd . 3ibli ply case wlygiws

P S azgi switch jgins 3)90 55 e 4 . Mumgie Whgiwd LG ) | T WS Gib 2 bl Cuns @go
var choice;

console.log("What's your favorite pet?");
console.log("[1] Dog");

console.log("[2] Cat");

console.log("[3] Rabbit");

auvihwNnBR
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7 console.log("[4] Turtle");
8 console.log("[5] Fish");
9 console.log("[6] Not in the choices");

10

11 choice = parseInt(prompt("Enter your choice: "));

12

13 console.log("Enter your choice: " + choice);

14

15 switch (choice)

16 {

17 case 1:

18 console.log("Your favorite pet is Dog.");

19 break;

20 case 2:

21 console.log("Your favorite pet is Cat.");

22 break;

23 case 3:

24 console.log("Your favorite pet is Rabbit.");
25 break;

26 case 4:

27 console.log("Your favorite pet is Turtle.");
28 break;

29 case 5:

30 console.log("Your favorite pet is Fish.");
31 break;

32 case 6:

33 console.log("Your favorite pet is not in the choices.");
34 break;

35 default:

36 console.log("You don't have a favorite pet.");
37 break;

38 }

SO by ghal b el 034 6315 Caund 33 SO loas 10 puwl 4 . 3o350 |y (Ud8e 3)90 (ylgum O] 6jla] Lais 43 YL doliy

1305 3ylg dae SO T )0 1L Ladd a5 g4 (50 0313 Ginlad 5 W)yguo 4y 8y

This page says
Enter your choice

2
“ cancel

Cawlio pley 393yl a5 pdlio ()T 1 plaS o b g 39450 dunlio case pdlio b switch jgiws j> sac ¢l 9 iS50 3)lg | sac Ladd
3ac 02 jb 6yzxdy 53 )51 Mis 3950 ol default jgiws 3905 ply o case yslio jl plaS 2 b ao (51040 olgs 31> gl
1392 A0lgB ) O)90 @) delp) 529y pauwish 1) 2

What's your favorite pet?
[1] Dog

[2] cat
[3] Rabbit
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[4] Turtle
[5] Fish
[6] Not in the choices

Enter your choice: 2
Your favorite pet is Cat.

1D AlgB ) g0 4 (529> g Vg (50 [yl default Gido Olygiws @uiS 3)lg ;) 99 sac Wio )51 g

What's your favorite pet?
[1] Dog

[2] cat

[3] Rabbit

[4] Turtle

[5] Fish
[6] Not in the choices

Enter your choice: 99
You don't have a favorite pet.

3 .35 o3latim] 35 degame S5 631y L (gl case 3z b 93 5l Ailgise Lads a5 Cawl ¢l switch jgiwd (sleSiug 51 505 (S0

L Ngdh didgd @ o Gy LU Lo case a5 A dzgi . 3gd 0 [yl A5 G abb 3 L 2 (1 sac number lado )51 ;5 Jlie

switch (number)

{
case 1:
case 2:
case 3:
console.log("This code is shared by three values.");
break;
}

D Ciigd (lgiise 10 1) g 4 1) YL el .l g5 5 o5 if Hgiwd Jolee switch jgiwd aib S5 Wi oS jghilew

if (choice == 1)

console.log("Your favorite pet is Dog.");
else if (choice == 2)

console.log("Your favorite pet is Cat.");
else if (choice == 3)

console.log("Your favorite pet is Rabbit.");
else if (choice == 4)

console.log("Your favorite pet is Turtle.");
else if (choice == 5)

console.log("Your favorite pet is Fish.");
else if (choice == 6)

console.log("Your favorite pet is not in the choices.");
else

console.log("You don't have a favorite pet.");

. 2ibse else giwd Joleo default )giwd .35 switch )giws silo (glasun Tads Vb 85



55 CapSallgl> (L) (3lo

pIAS

23S U Iy “.Hello World” dlaz ;b 10 3)gumxe Laid Wie .l 63555 dims jluws 45 Juwggis |y b aS 3lass (lad 3yjgix0 Lad

1 ) Jlio 3o

console.log("Hello World.");
console.log("Hello World.");
console.log("Hello World.");
console.log("Hello World.");
console.log("Hello World.");
console.log("Hello World.");
console.log("Hello World.");
console.log("Hello World.");
console.log("Hello World.");
console.log("Hello World.");

e 2 o) 3910 ol ) LueisS CadsS US )3 ) Rl g Samghy o) 1) 35 3l (l )5 S L lgie Lad il
35l a5 he cnySwllgls s dils  cuwl ddls 5l oslaiwl YL (oS (yidbgs

while e

do while e

for e
for..In e
for.Of o

< @230 oy )T Casuo 5l 2y For.In dils o)l
While dadl>
Dl pj ©y90 4 While dils jlisle . gd0 hal Soby (90 (sas

while (condition)

{
}

code to loop;

azui )51 pamgise Gl (o slade SO (T dsuid a5 1) by SO 1abl sl 63k jluwws 1 jLisle ke While jlisle a5 3uiwe
While dil> &) doly a5 (Si8g b false by balé byb )51 .30 Ll While Sgb J515 loaS Guaw 36b true b cus)ys

. 394 2ol While ddls> (J51s jslie b dils (o Wigio (gl .30 ol |y as 5l plaSoue duw))
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@ dil> W85 b deldl g )50 )8 s3litiwl )50 by inlejT (5l 8355ladd (@3l jLo ddls 535 J515 5 635)lai ysio SO @
odol While dil> jl oslasiwl 69 5 4oly 3 .@add Ginlidl b o lS b G J215 )5 1) exdlad ¢l .l diusly T @ (e

T Gl

var counter = 1;

while (counter <= 10)

{
console.log("Hello World!");
counter++;

World!
World!
World!
World!
World!

World!
World!
World!
World!
World!

i |y s 10 plai @339) joumo @33)S(,ai a3laiwl YU Jlis )5 dils 51,51 .36 10 wle |y Hello World! plésy ;L 10 YL deliy
03db 03wl dils> 0a5)ladd ylgic a3 o jl g Liyyel jusio Su 1 o 3 1ol el @98 4ol (sloaS & LBLS 45 L ojl] .auiS

OF b b Gl yiaS 10 51 LT a5 39d50 amnlio 10 b 635)lads adgl )laio lal While dils> )3 @S0 3)lg |y While ail> 3 b s
Jado duwnlio )b o jl a2y iS50 b0 liw aF jghiled .Cuwl pley wle g While ddls> 453y 4 3g)9 dunlio jb Ho a4zl .l ply

AU a8 10 51 035)lads Hlaie 45 39dz0 LS5 (siloj U dils (6 ki) 390 48Lsl asly Sy o35y lads

G5 ol 4. 0750 3929 4 Coleiw dils SO g False 5o by jlabe b g e s Ginlidl ) (T 9 Blay S 635)ladd Hlaio )51
092 M50 )1SG b 9 Lo 35 033,550 e3laiwl < Caole I ST .l 64 o3liiwl <=l < Cuole (glo 4 YU boyds 5> a5 23S azgi
23S dloul Culy (0 dil> S Ldlg>s0 S .y < 10 10 (92 dgd 50 False uwy 10 & by a5 (Lol5io g Cunl 1 digl jlabe

LABb (true) Cuwyd o)lgan a5 1S dloul by SO b 364 ibgie o8oud oS

while (true)
{

}

//code to loop
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2wog3 03l )3 a5 return g break wlygiws jl edlaiwl b adlgiy Lad o5 cuwl (H5loj (T 9 31> (L 3)lge 2y 5> SuisT (ol

<09 2yl il 5l sl uslgs
do while adl>

35 1l dils ¢l )3 a5 ©glas (ol b cauwl while dils aud jluw dils ol .cul jL)SE gloylisle jI 505 o do while dil>

code to repeat;

} while (condition);

Mg se ol )y J8las dixy J51 (slodS a5 Cunl ime (3o ol 315 H18 Lisle (5T )5 bbb 3iS e 03 live ¢S johils

DS dzgi 5 SIS & Egbge ol GG (gl Mg [yl B3 J515 Glhgiwd 3bb Cunydl by HS1 S while dil> GMsy

var number = 1;
do
{
console.log("Hello World!");

} while (number > 10);

Hello World!

Caw0)db byid S5 (i s 5D 39450 dwglio 10 sac b number jlado a2y g Mg 0 Iyl do Sgb elygiws Jgl YU a5 (gly=l L

 Dgdize ol b Sy J8las do Craws o jb iU

var number = 1;

while (number > 10)

{
}

console.log("Hello World!");

G50 Dlge 51 (50 398505 Lyl (635 1505 3o Cunyd by Y31 35550 )18 dwglio 3y90 1ol number jlade Jgl ()92 YU a5 55 Lol
Olilac SO 25 A5 9350 .35 b ly)d )5 51 Slebl suolgsn Lad 45 cawl (Hloj while ddl> 4y e do while ddls jloslaiwl
: Cawl 004 (gjlw o5ky do while g while ddl> g5 buwgs (s

//while version

number = parseInt(prompt("Enter a number greater than 10: "));

while (number < 10)
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number = parseInt(prompt("Enter a number greater than 10: "));

//do while version
do

{
number = parseInt(prompt("Enter a number greater than 10: "));
} while (number < 10);

< Cawl 00 8dliwl while @y cuws do while 15y ) (gyiaS (S jl 45 3uS (0 o3 lire

for adl>

ALl Casogas 3z (ghls kb g 3230 plosl while dils ) 4ud lac dils (] .l For dils )1)S5 o) lisbe 51 505

D Cwl pj g0 @ for dils Hlisle .cwl

for (initialization; condition; operation)

{

}
for dil> 515 5> ks 015)ladd .30 dil> 635)lad @ a5 Cuwl (g)lado gl (initialization) adgl oo )lade e

code to repeat;

Gl wyiend JB

L8 L WL dols] il 45 S e (s 9 S0 dunlie ;S0 Hlabe S L 1y 6a5)ladd Hlade lxigl > (condition) byds e

LA350 Ginl8l b GRS | jusie adgl jlade a5 (operation) Slac

s Canl 6301 For dils 1 Jlio o pj 5>

for (var i = 1; i <= 10; i++)

{
}

console.log("Number " + i);

Number
Number
Number
Number
Number

Number
Number
Number
Number
Number

P OVoONOOUVTDh WNPRE
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Jaio 1 )lade b1y o) g puiSs0 Cinyes sadjlads olgic 4 o <y 133 .3y laisse FOr dils jl oslasl b 1, 10 G 1 slacl YUy 4oy
9w Caawd a5 3uiS d2g5 Tggluno by Cuuwl yiaS LT a5 @uiS (50 dunlio 10 Hlabo b 1y T by jl oslatiwl L Guaw @S (50 adgl @
@ 3oly SO 8T a0 wla 1) 1 imy i ()l ylaie L 9 Number aiis, 13l g 3950 1ol 35 390 Iyl g9 (1++) ail>
4ol 39 true by jlade a5 (Hloj U dil> ¢l g 39450 duwnlie 10 33c b i )55 b g 39850 2 plp 1 )l3do g 0aud 48LSI 1 )lade

D AS Jac i ©ygo 4 b Bgd ola SgS 4 Sl slacl iy 35 (55w 63Ly |y YU doliy (weSee Jlgi ST > Lbie

for (var i = 10; i > 0; i--)

{
}

//code omitted

140l () LaolS )Slae 5l o3kl b g pa350 10 1) 635)leds algl laie (S 4 Shim jl) WS e il 1 43 1051 1) slacl Vb 35
Jlie glgic & 31y pues 515,505 slowsygo 4 1) Slac g by Camd (lgis0 @S0 Sl 330 pledl |y (wgSee (ji)lads 45
0 Oaizan 3,5 eslaiwl oS b Giulisl Slac Clawd 3 (pavazs loySlac jl g by cuawd )3 ke glo,Slec ;1 ¢lgise

<3S odleiwl for dils Lisle )5 jukie iz 5l 5lg3

for (var i =1, y = 20; i < 10 && 'y >= 2; i++ , y -= 2)
{

}

//some code here

laz @ 51 LS 5l ealasiwl U 1y LsT b auiS 50 o3liiwl for dils ;3 Slac b 0a5)lass e iz jl )51 &5 A dogl aiSS (pl @

(Nested Loops) g3 yd ¢35 (gl dil>

o © 2,50 )13 50 dils Y515 ) dils S ST .S eslatiwl 65 53 g5 Ojao @) lodils jl 45 3o, o)l lab 4 o ySwllgls

0955 1) )3 .39 (50 Iyl JolS job @ LIS dils (Sigyw dils Hb SO shal gl G dodils Egi (ol 3D 30450 4isS g3 > g5 dil>

D Gl 620l g5 ) g5 dils> Syl

for (init; condition; increment)

{
for (init; condition; increment)
{
//statement(s);
}
//statement(s);
}

while (condition)

while (condition)
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{
//statement(s);
}
//statement(s);
}
do
{
//statement(s);
do
{
//statement(s);

while (condition);

while (condition);
31 Olgie Wie .3yS ealaiuwl )30 g5 Y51 )3 dils E¢5 SO 51 plgise @S Gl ¢l 3513 3929 ¢5 5 g3 (glodils 3yg0 5 a5 (glaiss
S Llgs (50 a5 AuS 40,8 .l 834,53 Wadls ¢l jl edlatiwl 9= yj Ui jd 13965 o3laiiwl while ddl> (J5Is )5 for dal>
S Sl (g 5 9 b 3 b i

for (var i = 1; i <= 4; i++)

{
for (var j = 1; j <= 5; j++)
{
console.log(" * ");
console.log("\n");
¥

3ac plp 1 Hlade 1By (i 3950 Iyl JolS job & (6-3) pgs for dils (1 ki) Jgl for dils> (gly=l )b SO (gl5l 0 YL a5 )

b5 53¢ il * e )b 5w (0 )5 9 394 dloul yaw 4 L 39 ol giw 550 F Caodle yhow 4 ) a5 Cuwl ¢l for ddls g i
bghs )53 * glocuole g 3950 dlagl iz k3 Sy Wb hal JoS job @ 51 ddls (89 (imy .l 333> b5 sleul gy po 7

.ugs @o |y console.log(“\n”); ylgise b3 (ol lo L il . LNgde il LA
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continue g break jl sslaiwl b ddl> 5l o 2>

51 elasiwl b oo plsol 1) )15 (ol johe a5 Cunlsisl Jlgw .9 Wbgio dil> @udlg>(s0 by (539 Cawwyd 3929 b wlégl Lol§
8y dwy dloyo 4y g 3,5 ) | didls 1 iy (ylgi e continue (gaulS dalS jl eslaiwl b g 63,5 ibgio |y adl> break (gauls aals
DAy glis |y break g continue jl oslatiwl 6920 j5 doby

console.log("Demonstrating the use of break.\n");

for (var x = 1; x < 10; Xx++)

{
if (x == 5)
break;
console.log("Number " + x);
}

console.log("\nDemonstrating the use of continue.\n");

for (var x = 1; x < 10; X++)

{
if (x == 5)
continue;
console.log("Number " + Xx);
¥

Demonstrating the use of break.

Number
Number
Number
Number

Demonstrating the use of continue.

Number
Number
Number
Number
Number
Number
Number
Number
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oslaiuwl g3l 5l g 63,5 iyl pusuo slacl ¢ 51 i o Judlgzy 51 Wie .l 0145 diwd jLuw Sy (830 (Gl Egi SO 5
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var numbers = [];

©lp JUe plgic & 2L QLT g5 02im3 s @lyT b a5 sl yigs 4T (5513500 pKin a2 (10 (U 1) 4T kb numbers
B G5 plie Gl sloul Pl 4 @ilgd e (sis . 3uS 63latiwl NUMbEr dalS jl S (50 6,53 395 53 |y dlacl &5 (gl alyT (513Kl

DS paduine 35 1y ol
var numbers = [1, 2, 3, 4, 5];
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var numbers = [];

numbers[0] = 1;
numbers[1] = 2;
numbers[2] = 3;
numbers[3] = 4;
numbers[4] = 5;
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numbers array

numbers (@] numbers(1]  numbers[2] numbers(3]  numbers[4]
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o S pasuie @ |y polic laes o5 pudlgy 51 .55 )18 Gl )5 cuwl HI)S paic dlaed dz 45 @33,S5 poduive (i @235

paiS eslaiwl pj Wygwo 4 length cuuols 5l puilgs

var numbers = [];

numbers.length = 5;
tewl 1) Oygo 4 NeW (g3uS dalS 1 osliiw]l lyT cagyes gl ;50 Gibgy SO

var numbers = new Array();

feaibg @ bl P13 )3 1) T polie ploi o0

var numbers = new Array(1, 2, 3, 4, 5);

13)S LS gl (50 @ ) )90 4 1) Vb T

var numbers = new Array(5);

numbers[@] = 1;
numbers[1] = 2;
numbers[2] = 3;
numbers[3] = 4;
numbers[4] = 5;

c@uS 0yu>d T J315 )3 ) juaic 5 aadlgs (1o Lo a5 Gl (io (a3 YU 35 561y J215 53 5 dac
for ddls jl aslasiwl b a3l y35lie 4y (laiwd

130450 lws il (1S5le g 0440 48,3 )15 151180 5 dalip ¢l )3 .l 630l Loayl)T jl eslaiwl 3y90 53 Jlie 3 5>

1 var numbers = new Array(5);

2 var total = 0;

3 var average;

4

5 for (var i = 0; i < numbers.length; i++)

6 {

7 numbers[i] = parseInt(prompt("Enter a number: "));
8 console.log("Number " + i + ": " 4 numbers[i]);
a8 }

10

11 for (var i = @; i < numbers.length; i++)

12 {

13 total += numbers[i];

14 }

15

16 average = total / numbers.length;



a9 4oby (sledby Ghjgel culw w3-farsi.com 64

18 console.log("Average = ", average);
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Number ©: 95
Number 1: 85
Number 2: 80

Number 3: 87
Number 4: 92
Average = 87.8
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for (var temporaryVar of array / string)

{
}

code to execute;

L g aidy )T pb T 1 3 g OF (G3ulS 4alS w3550 (5513655 395 53 |y LT (gliz] polie a5 sl (g u2ie temporaryVar

: Cawl 020l for..of dils jl aslaiwl 6955 135 )3 .eamigise |) dcgamo

var numbers = [ 1, 2, 3, 4, 5 ];

for (var n of numbers)

{
}

console.log("Number ", n);

Number
Number

Number
Number
Number

Lo .3gi(0 Egpid FOr..of dil> 3 ba ;3 (1 b3) cusl oadd 0315 j)8 3T ;3 5 B 1 pydlde g odib iyl cj> 5 b slahT dobip 5o
Iy (633c ydlin i (S8go yuio FOr..of dils 1 H1ST )b 4> 5> AS 50 0153 393 53 |y T dlacl a5 @les,S Layyei (SiBgo jusio S
a5 S5lw0 3B |y Lo for..of ddl> .ao350 58 Lo jLuisl )3 1) )T e52 (430,51 U (gl jpolde For..of dils> iS50 glhdiwl @l)T 5l
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var numbers = [1, 2, 3, 4, 5];

for (var n of numbers)

{

console.log(++n);

}
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var array_name = [[valuel, value2, value3], [vall, val2, val3]];

9) 632 93 T .Caunl LT G 395 T E65 al puaic 0 iz . Canlod QLTI (gl QLT 395 (g3 93 )T S a5 €S (gl (50
93 @ polic jl 0 )0 4 uyiwd Sl (S3=2 95 LT SH > 3bL o Ygiw 9 yhw s 45 3,5 )95 Jgaz o )90 @ plgs (5
 canl 0307 1) 53 (g3 93 T jI Jlie S .3)15 )18 (T 53 paic T a5 (Hgiw (sl (65503 g9 yaw LuIl S ¢ayls jLS jlaie

var numbers = [
[1, 2, 3, 4, 5],
[6 7, 8, 9, 10],
[11, 12, 13, 14, 15]

Is

AL (50 WlT SO 395 Jolic ¢l 1 plaS o aill .l paic dw (glld 45 Cuol 63b Layyes nUMbers b 4 LT SH YL A5 >
S &8l j> numbers ;T a5 S (lgi (o Gu - 351> paic 5 @ Lo LT ol jl pl1aS o .G 3 51 cwl LT numbers LT sy
2 35ke 31 plel Siwd Whgo ) polic 4 (@ )lado lgise .3l (5o Hoiw 5 9 yow 3 L Jgdz

var numbers = [];

numbers[0][0] =
numbers[@][1] =
numbers[0][2] =
numbers[0][3] =
numbers[0][4] =
numbers[1][0] =
numbers[1][1] =
numbers[1][2] =
numbers[1][3] =
numbers[1][4] =
numbers[2][0] =
numbers[2][1] =
numbers[2][2] =
numbers[2][3] = 14;
numbers[2][4] = 15;
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S 9 pgim 9 yhw Gleun 3l lgise Sl 4 (32 95 QLTS )3 polic 1 S 0 @ i (gl iS50 6oLk o5 )ghilan
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var numbers = [
[1, 2, 3, 4, 5],
[6, 7, 8 9, 10],
[11, 12, 13, 14, 15]
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15
for (var array of numbers)
{
for (var num of array)
{
console.log(num);
}
}

1
2
3
4
5
6
7
8
9

polic lo )3 (83,5 (sl Jgl For.of dils .cusl cusl)y jaiz (ga iz )T SO polic pilie lw )3 (83)5 45 333, s3> live
dil> b 1) )5 Gued Jlo .l a3y HIS @ ac Gl )T polic ¢l yd G83)5 (5l pg> for..of dil> g numbers (iwy ol 4l
1) (50 plol for
var numbers = [
[1, 2, 3, 4, 5],

[6, 7, 8, 9, 18],
[11, 12, 13, 14, 15]

1;

for (var row = @; row < numbers.length; row++)
{

for (var col = @; col < numbers[row].length; col++)

{

console.log(numbers[row][col]);

}

}
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13
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Esamo ;> .Cawl 034 odlaiwl length cuwols 1,505 50 ¢ J515 by 53 g Cuwl 634 Layyes iiue b )T uolic ¢las gBlg 5>
G o . bb o GBI Gl LT Jolic dlaes iyled (gl GBI dils g Lol Gl)T polic slad Gilad (glyp (H9pw dils> ¢l
oslasiwl b |y )T 51 yuaic y0 )lade G 3980 L2l [0][4] G [0][0] 51 09> dil> il yauo (row) wins) jlado a5 (89 JUio olgic
1) 9 1 pgiw yd &5 gpaic )laie 3k @ pby (Col) giw Hlaio 9 @ pby (Fow)ua) Hlaie )51 (a0 lis dil> |

<ol 1 53e YU Jlio > a5 3 lgs 031> (ylis 315 )18 (numbers[@][0])

a5 console.1og(“\n”) jgiws lxiyl )5 &5 b Aidles Izl ()T 51 a2y ljgiws 7)99 aw)y obb @ HISS ddls (haogd aSil I Ay
O 0S50 )hS5 0,Lg 1) alys (] row jlade 4 aslg S (35 ABLAI L dils Guaw .39 2 b 4 a5 A0 Vbl Aol @
dob ;l yiaS row lade a5 dgu 0 hal (Sloj U 3inhd ()l L3¢50 6315 (inlad 833y (pa0gd ydlie g 6ad )=l for dil> (hiogd
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1 var studentGrades = [

2 new Array(4),

3 new Array(4),

4 new Array(4)

5 1;

6 var total;

7

8 for (var student = @; student < studentGrades.length; student++)

a {

10 total = 0;

11

12 console.log("Enter grades for Student", student + 1);

13

14 for (var grade = 0; grade < studentGrades[student].length; grade++)
15 {

16 studentGrades[student][grade] = prompt("Enter Grade " + (grade + 1));
17 console.log("Enter Grade #" + (grade + 1) + ": " +

18 studentGrades[student][grade]);

19 total += parseFloat(studentGrades[student][grade]);

20 }
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console.log("Average is ", (total /
(studentGrades[student].length)).toPrecision(2));
console.log("\n");
}

Enter grades for Student 1
Enter Grade #1: 92

Enter Grade #2: 87

Enter Grade #3: 89

Enter Grade #4: 95

Average is 90.75

Enter grades for Student 2
Enter Grade #1: 85

Enter Grade #2: 85

Enter Grade #3: 86

Enter Grade #4: 87

Average is 85.75

Enter grades for Student 3
Enter Grade #1: 90

Enter Grade #2: 90

Enter Grade #3: 90

Enter Grade #4: 90
Average is 90.00
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1 function PrintMessage()

2y {

3 console.log("Hello World!");
4 }

5

6 PrintMessage ();

Hello World!

PL Quaw function gauls 4alS 5l @U wayyes (gl 9 1 b3 55 3uiS (50 03 lie 45 jghilad il 63,5 iyl 2 Sy 1-4 bghs )
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PrintMessage() gU Lo (5ig Yis .59) (w0 PrintMessage() gl wyyei Jowo 4y b5 jl doliyy PrintMessage() gU sly!l (gly
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function FunctionName()

{
}

return value;

Hlado (ghls a5 2B S 5 Jlio .paungd (0 return jgiws (gl |y value iz b 5l GidSib jlade 3uS (s 630 Lie dS jghilan

DA (5o ol |y cusl (SidSy

function CalculateSum()

{
var firstNumber = 10;
var secondNumber = 5 ;
var sum = firstNumber + secondNumber ;
return sum;
}

var result = CalculateSum();
console.log(result);
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0l ol 9 i (oo (oo W jufio (ol 45 AS dmgl L3l 0ddb (@ Hlabo g LaRT juRio 93 (§gd JUo 4 g 3 bghs >

S 10 b )3 30 (50 (HleBl)d return jgiwd gl sum Sy lade 7 b p3 558 (50 )8 sum yugio )3 ugie 93 gaz 5

<S50 (Hlg>)hd 1) CalculateSum() &)U g @uiS (50 iyl result pb 4 yuio

A0 5> 634 6,03 Hlade 11 bas 53 304 (50 60D Pesult ysie J513 )3 a5 315,35 ;o o 1) 15 lade CalculateSum() gl
b il Vb @5 )3 (6315 (o35 4503929 L .t (§3a80 9 (635 @U b )55 Jlio (] )3 a5 ;22U .39 (50 2> result
ol @3 polais] (T 4 1) 15 )18io 9 63y Ligyss o S izl @ auiwlys (o > )3 wawl 15 AES) ylaio adued (g
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4293 pj JUio @ ko (ol yigs )3 (gl L AbL Sy Hlade (gl)ls S plad b EuiS esliiwl switch b if jgiwd jl U SO

RV}
1 function GetNumber()
2
3 var number = 11 ;
4
5 if (number > 10)
6 {
7 return number;
8 ¥
9 else
10 {
11 return 0;
12 }
13}
14

15 var result = GetNumber();
16 console.log(result);

L5 kb ,5 a5 cwl 6aid ;o3)lade 11 )laio b (gyukio 3 b )5 .Cauwl 6045 Linyes GetNumber () b b @ <y 1-13 bohs 53
s S Jlo . 3515)5 ey 1) 11 jlabe Jgl return jgiws Gum el yida 10 1 judio ¢l jlade ()92 9 394 (0 dulio 10 )labo
) 10 51 53550 33 <O )15 j1 a5 394 (10 Ll Hhuo Hlabe g ol else Cuawd 4 bgyye return jgiwd b yieS 10 jl ysio ¢l
Sl oez 390 (505 iz doub dabyp ghol pKio )5 puS B> o i 1) return jgiws b g if jgiws else cuawd )51 .10lg5> (10
20 daliy cunl 604 Bis else cuawd (jo2 g 13135 p 1) y6u0 jlade 15 3g) (50 €156 Cuamd 4 doliyy 3L Cuwn)dl if jgiwd by

Vlz |y (g)laie gud doliy 31> LSy Hlade 4y 5L deliy (52 39d WBis return jgiw S| uizad ¢ A5 Lai Ol |y (g)lade
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GiniSyy Hlaie a5 @B S jl aslel (5o Lais 45 Cawl ¢l @ad Ghjgel lad 4 padlgs (1o Guyd 2l yd &S allao (3y5T g .S (S

239 (50 o jl A=) (sloaS (ghal g U 43 jl 29)> cucl return jl eslaiwl . 39 2l 3)las

function TestReturnExit()

¢ console.log("Line 1 inside the method TestReturnExit()");
return;
console.log("Line 2 inside the method TestReturnExit()");
}

TestReturnExit();

Line 1 inside the method TestReturnExit()

03 8315 (L (GaulS dalS (il 1 A2y (GloAS dad (4185 64330 g return (gaulS aals jl eslaiwl b @ j| 29y 695 YU dolip >

-39 (50 Lol g (Silg>1)8 (TestReturnExit()) sau wayyei U aolip LU S .l

A350 )8 Lad H L] ) dpiwe ol JWs @ a5 1) (SleVbl Guaw 9 3550 (155 1) 3T U a5 3iiwd (50l (sloedls dojiolyly
3 3l5ia @ Ky ¥y Gl @ ) Gl T Gab 2 o 310300 2iaylS Sy @ Ladb oS Aiiunds (SLeMbI Ao Uyiolyly 3455 (165

D Gl 60 031 Lis yiohL N b &)U <O pj 5« bl o3l walizo Elgil 51 Llgi 50 yiol)b o 3l aibls yiol)ly slaes

function FunctionName(paraml, param2, ...paramN)

{
}

code to execute;

BLSI 21U 4 (6305 Syl 31455 (lgise 32350 il R4S (515 polwl 2. 35,550 )18 W5l 2 9 & pU jl a2y loyielyy
g 50 6313 Lolais] W yiol)l 4 45 Jiud (§p3lie legS)T .3 (eli i 1) ()T (cleilesS)T 1L B S (Slgahd jl am . )5

i Jtie Sy o 33 o5l

function CalculateSum(numberl, number2)
{

return numberl + number2;
¥

var result = CalculateSum(10,5);
console.log(result);

93 Shld @l .l 3ac 93 Hlais gaz ()T ddubg &5 Cuwl 04 ayyei (1-4 bghs) CalculateSum() pb @ Ui S Vb doliy o

NouphwNPR

10 9 5 53¢ 93 6 b5 )5 315,550 o |y dac 95 Raz doui return jgiws U 43y 53 @S0 Jwyl LT 4 1) slael oS cunl yial)b
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4295 b S5 (al @ A5 Cdlyd ) T Loyl doyiel)ly 410 9 5 sl Jloyljl 3. @iiS5e Jlo)l U 4 glegS)T plsic 42 |y
L9400 didsg) (dgd(s0 didigl S)yi dalS (yaegd Jol Wy=) camelCasing b (gyidh (oS oguid 4 313)1)8 Gub W yiol)by pb a5 3uiS
WlogS)T Jluyl 9 (iiSy ya3lie (5o yisn]s .39di (50 2 4zl 7 a2 )5 9 Bigdd 50 ez a0 b )laie 93 (3 b3) QU 63 Y515 )
olgis 4 ) @B o jl LSy )l3ie 34316550 (512 Ladh 45 A0 LS ) AT 4S5 205 Ly (653015 @295 Ladh a5 3950 Cacly

FaS Jyl )03 &6 @ olegS)T

function MyFunction()

{
return 5;
}
function AnotherFunction(number)
{
console.log(number);
}

AnotherFunction(MyFunction());
A5 (529> dgdizo Jueyl AnotherFunction() gl 4 logS)T ylgic 4y g Cuwl 5 dac MyFunction() gl sy jlaio g9z

1Al (50 undefined wguis Jlwyl LiT @) (g)laie S| doyiol)ly dad (o ybaw Hlade aSiyl (HLL 4SS .l 5 e po YU

function MyFunction(param)

{

console.log(param);
}
MyFunction();

SISl gyiol)by

Ghls byiohly ¢l .4 b 3,5 Jlw)l Olngfﬂ T G lgi,e 9 Amd (gL Cawldy o livawl jI a5 Gl (gL s yiolh)b
S dzgi pj JUie 4y .S (50 e3lbiwl Lo ,buiy pdlie 1 390 Jlwyl (5ilegS)T Loyiel)l 6365l @ JS1 . Aimd (0 iy y5lEe

function PrintMessage(message = "Welcome to Javascript Tutorials!")

{
}

console.log(message);

PrintMessage();
PrintMessage("Learn Javascript Today!");

Welcome to Javascript Tutorials!

Learn Javascript Today!
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Caole jl skl b g (SlwT 4y ¢ylgiise (gylidl yiol)ly S Lanyed (gl + 3)15 (gyLis yiolyb G (1-4 bgks) PrintMessage () gb
@ GlegS)l Lo (6 b2) Slo>hd gl > .paiSse Glo>hd ) U )b 95 (1 b Vb JUis) ols polaiz] yishly Su 4y ) jlade S =
19518 (52093 53 L2550 odlatiwl (Welcome to Javascript Tutorials!) oyad jlado jl @G ¢plpls puiS5es Ju)l G
o3laiwl @ )3 yiohly iz 51 )51 39dis0 yiehl Loyt )laie (Sal> &S EuiSe Jl &6 @ (plegs)l) plan o (8 k2)

S 3S 4295 ) Sl 4 359 453 Woyioh)ly audy 5T )5 (5)iS (Gloyiohly dad oS Cawl yigy iS50

function SomeFunction(optl = 10, opt2 = 20, reql, req2) //Bad

function SomeFunction(reql, optl = 10, req2, opt2 = 20) //Bad

function SomeFunction(reql, req2, optl = 10, opt2

20) //Good

23 G W yiahly 51035505 (50 ))8 byiahly Y215 )5 Cuwly @ Gz aw 1 g (0 YLyl Rlg5 4 &S LGS Al |
Glezhd )izl el iz L &g By . 39id (5o P> Pyl o HlogS)T Lawwgs T 3lio 3gib 6315 )18 loyiolyly (slach!
Gl 0lgias 45 Al aibls db 4 .31 Golais] Hlabe (itiws W yiol)b dady )3T 55 (Hl5e Bl jl &5 (ployiolyb 4 1L Vg0

23S Jas pj ©ygo @ il S 38)S 03256

function SomeFunction(requiredl, optionall = 10, optional2 = 20)

{
//Some Code
}
// ... Code omitted for demonstration

SomeFunction(10, , 100); //Error

Hado 5l yiehl el aS5)gb ) «puSo 63030 1) T 9 29 3) Camss HS0d Gloyinl)by )3T )3 a5 (5Ll yiehb SO 1 Jvlgsy S|

1208 oslaiwl undefined aals 5l 3,0 (AiS o3ldtiw] 395 (6,84

SomeFunction (10, undefined, 100);
L AS 0 o3liwl 10 iy 395 ()6 iy Hlado I yiel)ly (! alply 3135 optionall (gLusl yiehl (sl (53legS)T guo Vb G
> ¢ylogS)l a0l

Wi loyinlyby Caiys culey g (69T b @ j1 ) Ladb LgilegS)T b 51 aslasiw! .cuuwlgsT ob 1 eslasiwl lgilegS)T Jueyl gloaly 51,55 Sy
YU 1y 4oy (;2Ulos L3LogS)T pU 1 a3lisius] . au)luws ybls @y Iy @ (sloyiolyly oL b e (69c 53 . AiS (50 cusl) ylogS)T Jlu)|
named argument b l3logS)T ()aa0l .l 624 8313 Yolais! (pldyiol)ly a2 4 (gy3lie a2 45 Juiaw Algi0 b ()92 D50

D Canl 024 0315 (L 3950 (HloBhd @I a5 (5189 LgilegS)T U ;1 6dlasiwl 89565 53 5> .l 034 & koo ES6 >

function FunctionToCall({ paramNamel, paramName2, ...paramNameN })
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// Some Code

S dzgs pj JUe @ J>

function SetSalaries( {jack, andy, mark} )

{
console.log("Jack's salary is ", jack);
console.log("Andy's salary is ", andy);
console.log("Mark's salary is ", mark);
}

SetSalaries( {jack: 120, andy: 30, mark: 75} );
console.log("\n");
SetSalaries( {andy: 60, mark: 150, jack: 50} );
console.log("\n");
SetSalaries( {mark: 35, jack: 80, andy: 150} );

salary i
salary i
salary i

salary i

salary i
salary i

salary i
salary i
salary i

QUi 529)> .35 Jas )30 (a0 © o U (Sle>)d plio g Saungiy ST 513 )3 1) T 3L dayiahly oU 51 eslaiwl (gl
0313 Yolaisl lvabgipe (slyiehly 4 Cuslio ydlie @ yus |y 61 (Silg>1)d @il aw )3 lgilegS)T Caiys Lo )51 (is a5 A& 50
23S 03wl (yloja b 4y ((g)laie) bl lilegS)T 9 pb (shls SWilegS)T 5 (lgies 39450
SetSalaries(30, andy: 50, mark: 60);
SetSalaries(30, mark: 60, andy: 50);

SetSalaries(mark: 60, andy: 50, 30);

SetSalaries(mark: 60, 30, andy: 50);
13,5 odlasiwl 5 W0 @ ()lisl g yiolhb 51 Hles (50 (9 . AS (0 Sl s VL (olS 4o

function SetSalaries({ jack, andy, mark = 200 })
{

}

// Some Code
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Rest parameters
62U szl (gl 359750 @dl)d 1) aslw T O 55 ST 0,usd g Egiad (sl yiolyby blg3ds dlass Jwyl (Kol Rest parameters
39450 03wl ) WHgo @) (...) akd dw Caolle jl S bl yioh)b slgBs slasi 4y a5

function functionName(...vaiableName)

{
}

gl ...vaiableName ¢)ygo @ |y ;S Cdly)d sl HIy8 @15 a5 (o (LogS)T wuwndlS (AiS (50 830 Lie YU 35 )3 a5 jghilas

1345 dzgl 5 JUie .05 )53 ) yiel)ly pb ¢ JLs 4y g (-.) il dw Caode (i)

1 function CalculateSum(... numbers)

B

3 var total = 0,

4

5 for (var number of numbers)

6 {

7 total += number;

8 ¥

9

10 return total;

1 }

12

13 console.log("1 + 2 + 3 = ", CalculateSum(1, 2, 3));
14

15 console.log("1 + 2 + 3 + 4 = ", CalculateSum(1, 2, 3, 4));
16

17 console.log("1 + 2 + 3 + 4 + 5 =", CalculateSum(1, 2, 3, 4, 5));

Slaes U ol 4Gl (glp cwl 63 wayyei 1 k5 s CalculateSum() pb 4 @B SO duiS50 s3oliv YL JUs > a5 jghils
)T <SG numbers 4alS Juol j> .l 034 eslaiwl )T yialyb (glosls Egi 51 Jub (...) aais duw cuole jl cAiS Cudly)d yial)by algas
Gilo>1yd lpilogS)T Lalixo slass b )b dw |y 26 Jlo . 350 (50 6053 LT (1l 53 qauiS 50 Jloyl @6 @ 1) lologS)T Lo (489 4 ausl
& Q) jiehly padiz jl By .m0 Sy lePhd &6 @ 9 gaz ) legS)T ¢l for/of dils jl eslaiul b a9 @S5
o2l S1.3bb il (5T 1L GilKe blod jl uizxad g 639 (..) alaid) dw Cuole (ghls LL T 1 S bid uiS e s3lakul
oz b 208 ooliiwol 1> abails aw yiohly (aaizz 51 L g 3050 )18 )03 loyiahly 5T )5 (Cuwl abiis aw ghls &5 (gyially) i

P A 429 yj Cayd g oLl (glellio 4 950 a2lge

function SomeFunction(...x, y) //ERROR

function SomeFunction(x, ...y) //Correct
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A0 8639w

9 3,5 o3lasiwl yusio I (ylgise a0l (1S 5> a5 336550 Lads @ jusie S 8390 . Aimd 83930 (g1 CunySwllgls 5> o yusie
Ll Gwyiwd (B 0 a3 I )5 bbb dgd50 wayyel U SO 515 )5 oS (ghuie JUb plgic @) .l Guyiwd (JB jueio b
: .qu,o il l) Ledl UJl)J) LVIEJ) ,.))S e alizo &)b 93> Ubuu&.) PeL b yuio 9> OI93L>"°

function firstlLocalVariable()

¢ var number = 10;
console.log(number);

¥

function secondLocalVariable()

{
var number = 5;
console.log(number);

}

firstLocalVariable ();
secondLocalVariable ();

10

@ Qg imd (Siglite (Sodgamo (> 45 (9 9 3 boh) @uiS w2l HluSy pU L juie 93 Lo )51 (i a5 1iSoe saolive
J&1> yugie 4y bWl s FirstlocalVariable() gl J&15 )3 oddb wayyel jugio 31> Golais! Lalide ypslio LT jl plas o
95 Sh1d CanySullgls 31> @udled 2ubgs yidiw 8L o2l )3 @iy lguwllS Cusus @ (5389 .3l secondLocalVariable() gl
1wl 83930 Eg

(Local) Jowo lopugio @

(Global) (gpwlhw cloyusio o

Ao (Gl yasio
1348 4295 5 Jle 4 leslatiwl (BB U lad 1> bbb g sl (Sl g0 wayyel @ilgi JSIs a5 (oo

function LocalVariable()

{

var number = 10;
console.log(number);

}
Localvariable ();

console.log(number);
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Uncaught ReferenceError: number is not defined

o2l)HlaEe wlz )3 Gew a5 10 bi )5 (Jg dgi(50 Wl nuMber jugio jlade 7 k5 )5 &L (Slg>])d b 3550 630 liw a5 johilan
9 pio @B pLb L .cunl 0300)5 LL 0 QU &5 cwl (Sloj B pusio ol e Job (192 90 42190 La> playn b )l jusiio
35 @l ) ol)lie plgisad U jl 2yl )3 il )3 39)0 o jl @0 T ylaie

Sy (Gl yasin

P Azl pj JUo 4 L alimd (b Egi I Wigds0 Lyl U (h9yn )d &S (o yuie

1 var firstNumber = 10;

2 var secondNumber = 5;

3 var Sum;

4

5 function GlobalVariable()
6 {

7 Sum = firstNumber + secondNumber;
g8 1}

9

10 GlobalVariable ();

11 console.log(Sum);

G ) oypsio Eg5 ol jl 3w (gruubhw Egi jl g Bloads ayyes 23U (y9yw > Sum g secondNember g firstNumber gl ,sio
.S oslatiwl «oliy lo o ) plg (o izl

Arrow Function

OBiosdmgd jLisl )5 ES6 (1920 jl a2y ([Shig 2l Al (50 CanySwllgls )3 @ilgd Layyei (gly Ayam (igy Arrow Function
slayl yiolhb 990 b g yiehl b ohan |) 216 ) Cueyun & => jl osléiwl b B o310 ojla] lais 4 Arrow Function .cs)S 1,8
Arrow O dloul 8gd iy 1) @B S return by g function (gadS daaels jl esléiuwl (j939 35lg3 (0 U9y al b .auiS

120b (50 ) ©ygo 4 Function
functionName = (paraml, param2, .., paramN) => { statements }

PS5 Qg 1) (639)9 yiehl ue Lo ol )3 & sl Gl @)U Sy JSib yTeslus

var ShowMessage = () => console.log("Hello World!");

ShowMessage();

Hello World!
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1AS (50 wdlyyd (6399 oylgic 4 (ylegSyT <SG pj Arrow Function

var ShowMessage = message => (console.log(message));

ShowMessage("Hello world!");

Hello world!

1005 18 55l J515 53 1) LiT b abb yiel)ly gy slass b 93 (glyls Arrow Function S S|

var ShowMessage = (messagel, message2) => console.log(messagel, message2);

ShowMessage("Hello ", "world!");

Hello World!

LIS L ) LT g aiings jiilyy J&Is |y o (2955 1L o) Ginlad (5295 )3 |y jgiwd S jl iy Arrow Function ) suslexs S|
135 lae oo 5
var ShowMessage = message => (console.log(message), console.log("Some more message"));
ShowMessage("Hello world!");

Hello World!

Some more message

0 63513)5p (63le wll> )5 Arrow Functio wlygiuw a5 cuas (ylgi (5o .2l return aalS (ghls 3lg5 (05 Arrow Function
s dalS ol @ (g5l g Sigk
var GetSquare = number => number * number;

console.log(GetSquare(5));

0lo>)) 39> Rilgs 9 pU (2 @95

Ko ploic 4 1) @B SO 30350 8jlal Lo 43 a5 34 ko Anonymous functions b el (3 @lgd pb 4 hisw ca)Swllgls 5>
pU ki 9 8gidize iy (g3l @95 35Lad o (52 @195 303 )h8 pusio S 213 )3 ) 0T L 9 343 Jloyl 505 @6 @ plogS)T

D ol ) a0 4 pU (9 e jl eslitiuwl Hgimwd .35 (50 H18 () ) Sauw Cuode LT dimy SYoST jI a2y 53 g 355145

var variableName = function (parameters)

{
1



81 g pSanllgle (bj Sle

D AS dazgl i A e 18 o (solz 5 (Plaauw S g il e 93 Guaw 9 paungiy |y @ledly polaisl T 4

var ShowMessage = function(name)

{
b

console.log("Hello", name);

ShowMessage ("World");

Hello World!

PL 6 b5 55 Guaw g @lesls yolaisl ShowMessage juio @ |y pb (5 U 1 b ) labl (auiS 50 63 line YU A5 ) a5 johilan
2523 E9 S mlondd 0b (52 die 43 35 (shzl eacl glogS)T Yoyl 9 o 0U (592 53 535 95 IBIS b )5 g didbgs |y o 2
@isS self-invoking gilgd ¢yl @ .30 (0 Lol LT (Glo3S g (ilg>1)8 j 15395 ygo 4y a5 35yl 99 CunySwl lglz )5 Rilgs 5

1AL (50 ) Wygo @ self-invoking U <O sloul 69 3940 (50

(
function (parameters)
{
//Some code
¥
)
(Argument);
P3iS 4293 pj JUe @
(
function (name)
{
console.log("Hello", name);
}
)
("World!");

Hello World!

CansdlS g3T (535 13uo (5l 9 (1-6 bghs) Mg (5o wiyel jil Cads SO J515 )3 193 (pl S (0 630 Like YU A5 ) a5 jghiles
&U @ ,51.(8 bd) mawgh ) 33gd Jluyl U 4 Cunl 05V a5 (oo ¢)logS)T @i Wojislyy ol J215 )5 g aisliS jily cis S oS

A4S e am Lo |y doui g 631> udi 435 Wyao @ |y YU AS L3135 IS ) sl o cunsdlS iSS Job (5ilegS)T puo

(
function ()
{
console.log("Hello World!");
}
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0);

Hello World!

(Object Oriented Programming ) l)f S (yugd dobiy

4oly Al (598lg (gL )3 pable Ao £ Sy jl (g3ldS )L (s )d sLdl Ll 0,5 g Cawl)y 9 a2 @ Hizn 9 L Mk

L3S (50 S Py 1y cludl g LlgwlS oadd (i aiwd (sl aS jl eslaiwl b 1S (b g

W65 (iny2 lads a5 S (59 jl hSesh Gumg 4oliy )3 s ald plosbuidl Slaxal (gl KNS Sy 2l @) jLo Lo Ll )
S polgs Jolis (oWS .l sadd didblw ¢ (59) jl plaisbe a5 Cuol (IS SO lad ¢laisls aids Jbe (glp . 3gd50 Sl
(LY @ins S bl a6 b laisls (;28lg (5L 5> . bl se Gl sl ) e3latwl 3)90 dlgo g (Al wuslus Jilo (laisle

35l (i) )35 4y

iS50 SaS 3T @2 9 35550 )1)8 031wl 3)90 (ylunigh 4oliyy dlung) &5 Cauwl g 4oy 5> a2 gy S S £t ungd 4obip
O A o (0yd )l e dalip O G Sl lgle LS )b csl) g Llgs i ssliinl Cubld b (plodeliy S
3 g0 Cuolio jl a5 (it Mz g i)y pgeae 95 b Lad (paizxad 3 Aol 031> (g0l clubl jl odlatiwl g (IS Layyel 692 Las

gize LT 03007 53 3w )5 (b mg) 4ol

) cuwl losio g (properties) yolgs g oyuio Jolib g 3950 83)25 )5 uwgs a5 (glosly Egi Sy 32350 0Lzl Lais 4y IS
S 0OV @)l L g polg> lidkw jI a5 Cawl (;Blg juz S (5% . AbL(0 £ S (Sl WS S pS> )3 S L3S sl

0@ gl @ G9a) 9 s OlalS jl cunl (Sae )3 )3) RlaiSle oIS I Bgas Sy aSil P W s S By NS0

1 394 esliiwl class (gaulS dalS I (oS Sy iyl (gl (394 65l

class ClassName

{
Variablel;

Variable2;

VariableN;
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methodl;
method2;

methodN;
oslasiwl Pascal Lg)liinb V9 )l po S Ls)liiob 30 g3 (50 S (50 WD (lawS (gl aS (50U 5l Ju 1) (g3lS aalS (ol
. Digdd 0 0313 51,8 (T (slodkie g oaLd (WIS &Yy ) . EuiS 0

S 9 (50 €S Mo (Ngih (50 LiyyS YIS JSI5 &5 R1GT ) g ald Wigdh (5o LS NS JS15 )3 &S Rl pio @

SO a5 Aiiwd ()5 L o)t akio .M sslaiwl (property) ginlocwols yslis 6y5d g Wo)lis) gl oaksd jI Gis

D Gl 014 631> (i person pb a4y eslw (S SO jl eslatiwl g wayyel 692 ) )3 3@ ploul Llgise IS

class Person

{
name;
age;
height;
TellInformation()
{
console.log("Name ", this.name);
console.log("Age ", this.age ," years old");
console.log("Height: ", this.height , "cm");
}
}

let firstPerson new Person();
let secondPerson = new Person();

firstPerson.name = "Jack";
firstPerson.age = 21;
firstPerson.height = 160;
firstPerson.TellInformation();

console.log("\n"); //Separator

secondPerson.name = "Mike";
secondPerson.age = 23;
secondPerson.height = 158;
secondPerson.TellInformation();

Jack
21 years old
160 cm

Mike
23 years old
158 cm
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polaisl WS @) U Sy 1 k3 el 004 wayyei Person pb 4y S 1-13 bghs )3 (iS50 032w YU AT ) aS johilae
03 Loyl b dw (1l 5-3) . bghs) Mlesi wayyes ¢ (loald (S G J515 53 3ibb wyiwd JB T dwg 4 U @lesls
bght )3 il 35 5 b <ol (6> (5Bly (S53 55 3,9 Sy Ao 033 395 3 |y L3Bly (Sis 43 3,9 Sy (g lpogias
a0 (g 358 51,51 Wko 9wl ¢)lawlS Lid) a5 Cuwl 634 wayyei TellInformation() el 4y (VS J51 )5 po Ao Sy 7-12
0,0y (GliSS .l 03 iyl AL )3 9290 pdlio (1 Gl (gl (RIS e Y513 )3 0550 (RDjuz (BI9S 390 43
S 3T 63930 dilodis aid)S y1a5 53 WIS (slacl ylgic 43 g Layys (WIS J515 )3 aLd (92 a5 Cunl (1l g 31> 392¢ AL
034 Sloul digas dluwg 0 b g 35515 GleS (T G oS (Dl Giws WIS 515 )3 3lgi 50 Jadd bl a5 Cunline (Y (ol .Cuwl (WS

. S (505 03latiw] Function daelS jl oo wayyei (gl g var aals jl loalid iy yes (gl (duiS (50 63 Lie YU AS )5 aS jghiles

9 New (g3alS aalS I b (WIS O j1 digad S dloul gl .puiS e Syl Person (oS jl e 93 b digas 93 17 g 16 bgks )>
P )8 0l b Sy g oS eU o JWs 4

16 1let firstPerson
17 1let secondPerson

new Person();
new Person();

L LAl G wyiwd (gl Cawl 0140 031> Holaisl personl GwiS jl e dlogl (b (gl (AL @ (gydldo 18-20 bghks )
AL 0 personl ¢ 5l name ,ukio 6 2id> ()L personl.name a5 JUbo ylgic 4y .39 50 83liwl . Caole jl o5 SO (gloLio
bghs )5 this (gaulS dalS 4 .(21 k3) auiS 0 ilg>l)8 |y personl ¢ TellInformation() die 1L Al yslie Ll (glp
this jl jgkio (Mg 0 Juwyl personl b @a)b ;1 yoldo (589 (simy .3yl (g)lz s @ o)Ll (GAS 4alS (pl .auS a>g5 11-9
LML  person2 ¢ this I jgkie  Mgie Juyl person2 i Gyb I 89 ¢ personl b
ly TellInformation() ke Luww 9 ead(s0 pomass 6 dloul (WS 51 W a5 (Legd (i @ (gydlio jui 28-30 bghs )
he P S g olplo 35,1 ju2ie (o jl iglatio (glodasuws person2 g personl a5 aus dogi diSs ¢l 4 .EaiS 50 (Sle>)s

15 paled sl 03T (Sleasyd )3 (WIS (glacl )5u3 )90 53 3135 personl b p (5,50 g person2
0355w

G213 Iy GO (Gloalid a5 Jid 350 05l Lad 4 oGl .l o3V ludl sl (gl LT 3929 45 S (0ol (sloLio Wbodsjlw
OlolS )5 (gloasil guo 1 )51 .28 d8Lsl dolip @ 1y Bgid hal e SO dlowl plKio Ldlgs,0 a5 1) &5 (oS g AuS ddgl
pels o jl sa35lw slaul (ghy 350 edlitiwl Cunl yiohly oW Yie SO 45 Hobi 0355w I CapySwllgle WSS e5ldtiuml

T S50 63l |y cuwl (7-10 bghs) (6 ybdiy 635jle Joli a5 (oS G ) JUo y3 @S (0 83laiwl constructor()
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1 class Person

2 {

3 name;

4 age;

5 height;

6

7 constructor()

8 {

<)

10 }

11

12 TellInformation()

13 {

14 console.log("Name ", this.name);
15 console.log("Age : ", this.age);
16 console.log("Height: ", this.height);
17 }

18 }

19

20 var personl = new Person();
console.log(personl);

Person {name: undefined, age: undefined, height: undefined}

030Llio 21 9 20 b3 )5 a5 johiled AiS(50 Sl ) O B39 j9b @ Con)Sullgle (92 @SS Ciyss po 1) oxijle ol palgssn
39290 ydlio 10g() Ul esliiwl b g (pad(s0 Rudgl yidiu A=) ()3 53) @2163,5 oyl GeMS j1 digad S b £ So Lo A4S 50
.l 831> yolaisl |y undefined jlado Al aw 0 4 (o84 0355w 45 JiS 50 s oL (29,5 )3 @l63)S Ll ) s ol )d
B9 315 (name) pb W0 LWd @ a5 (63,8 Wie e Lobais! ald a1 (o ,bdiw Hlaie 6355w jl e3liiwl b a5 Cuwl yigs Wie

DD polaisl (o,ybdiy 6355w jl eslaiwl b ald @ 1) pdlio (il 1) W90 @ Eulgie g .3yl (height) a8 ¢ (age) ¢

1 class Person

2 |

3 name;

4 age;

5 height;

6

7 constructor()

8 {

9 this.name = "

10 this.age =9 ;

11 this.height = 30;

12 }

13

14 TellInformation()

15 {

16 console.log("Name ", this.name);
17 console.log("Age ", this.age);
18 console.log("Height: ", this.height);
19 }

20 }

21

22 var personl = new Person();
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personl.TellInformation();

Name
Age : 9 Month

Height: 30 cm

jleslaiwl b g yledgs |y 60d dloul e (gl alid (IS I (b SO syl jl a2y 45 EuiS dloul Gl pudlgs (10 36S 6y8 Jl=
DS dzgl ) AT ) LeaiS (;23)l380 @3163)S (ayyei dS (glodilw

class Person

{
name;
age;
height;
constructor(n, a, h)
{
this.name = n;
this.age = a;
this.height = h;
}
TellInformation()
{
console.log("Name : ", this.name);
console.log("Age : ", this.age);
console.log("Height: ", this.height);
}
}

var personl = new Person("Jack", 21, 160);
personl.TellInformation();

console.log("\n");

var person2 = new Person("Mike", 32, 158);
person2.TellInformation();

Name : Jack
Age : 21
Height: 160

Name : Mike
Age : 32
Height: 158

bghs )3 (7-12 bghs) @163, 48LsI Person (wlS 4 3iS 50 Joub (5 LegS)T dw |y (sloasjlw YU Jlie 53 34550 610 line a5 jghilan
bohs) als @ |y yslio ¢l sl g @aiSie Juyl (7 b3) exijls @ 1) Hlade aw byl 513 55 g s sloul jl asy 27 ¢ 22

L350 yolaisl (3-5
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(W) ab.u.\
daw CaySanllgls )5 L disnd (uopiand J3B dobp (slo a2 )0 ] oald b (WIS S b dio 45 M50 Haduwioe (wyiwd plaw
131 3929 Lwyiwd xbw

(sogec) public e

(s0925) Private e

(oaub cubidlo) Protect o

)b eslésiwl 390 (Sloj public Luuyiwd plow .@jlain @5 public g private Luwyiwd pdow & @udlg>0 wyd Rl )>

DS 428 pj 35 @ Jlie glgic 4 anb o yiwd (olS I 2)l5 )3 ald b e SO 4 LolgB Lad 45 3)5 50

class Test

{

numberil
#number2

10;
20;

}

var x = new Test();

console.log(x.numberl);
console.log(x.#number2);

OVwWooNOOUVTDSWwWNBRE

Uncaught SyntaxError: Private field '#number2' must be declared in an enclosing class

PL b GoVS S Jlio ¢l ) it public by sogac (swyiwd gbw (ghd ald g akio (obdiuy Clls )5 wu)Swllgls 5>
wyyes Test (wiS J&1s 3 privatew 0 (6,595 9 (3 b3) publices QO (50 AL 9> Huuw @6, Layyei Test
(€l (Ood J )9O QS 9 )ye 29 92 pe a2 >

(4 b5)

Cole jl T U j1 8 oS cuma8lS private b (pogas 3)ygo ) Lo by ald S Ghyyel (gl (AuS (50 830Liw 3 b3 )3 a5 jghilas

L3S eolaviwl #

o lino a5 jghilad .auS Gl |y (T loald jladoe a5 EuiS(50 (2w 10 g 9 bghs ;> g 63,5 dlayl (WIS jl digad Sy 7 b )
10 b3 Jlo  diws wyiwd JB oS 5l 255 )5 private glacl a5 Cunl ¢l @@ T Jud .39 (50 42lgo Uad b doliy 3uiS 0
Ojgo 4 A8 (pl g 39 10 d3c numberl 3L jlado (jo2 A (o U |) 10 dac ;29y> L3S [yl |) dobiy 6)Lgd g Vi )
Gy (gl a5 ol (1l 313 3929 10 b )5 oS (gl 4S5 Al (o Gwyiwd JB (eI 51 25 )5 g 6ai Layyei public by (;e9ec
33 Mg 50 L=l public wygw 4 a5 (plodie g ALS LIS job 4 g T Eb jI 8 |) # cole 2L private glacl

d313 55 bis Mg se Lyl private g ¢ 45 (plodie g ald g Luwyiwd JB o 51 63 sloul lddiged g (VS 51>
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AR (50 FSGE A=) () 5D S 3,5 edliwl ol 51 b GoWS jl 2)1 )5 LT 4 Luwyiwd (5lp 9 Jikud uwyiwd JB Lol

a0 350 090l 0351 (lew)d )5 illyg Cumuo jl Ay |y protect uwyiws paw

Sjw dguwsS

G20 )5 155l Egdge S Gwlus Glebl T b a5 Cuwl (ailyd wleMbl (43)S (a0 L Encapsulation b (gjlw dgwsS

_\9wb,o o3> Ulwu 9] le).) b f:j\) aS L,JLCXLb] bid 9 bgwb.o

bawgs ald ol 5l (550 . euiS (50 L y=5 j5 (b & bgsyo ydlie 0)u53 (gl AL (631323 Vgame EuiS(5e Liyyei (WIS Sy 45 (5189
30 b LS plad ) )5 45 Cawnss @Y - B9)50 )15 @ g0 alid S lsic @ ST 51505 (555 9 W ie 3lac (gl KNS S92

T AWS azg 5 0ol dalip 4 L a3 HuSl |y Lie SO Ao g ,l8) )15 Cuwl (Sen

1 class Test

2

3 five = 5;

4

5 AddFive(number)

6 {

7 this.five += number;
8 return this.five;
9 ¥

10 }

11

12  var test = new Test();

13

14 test.five = 10;
15 console.log(test.AddFive(100))

110
)9kilad) Jibs0 d3c 3 @ 5 jlaie 43,5 adLsI (4T g Cawl (slodlw o (gh1> (5-9 bghs) AddFive() pb 4 Test VS J51s Lo
723 10 @ 5 51 14 b 53 1) T ald lade g @163)S sloyl Test (S 1 digas S 12 b > ((AddFive cusliy Yie puwl jl a5
(32300 0510 @ ) o i2) 4 S Go 3 @ez 5 L)) dac )0 pldinlg> ol jl Lo g9z 3T s 2l Jeol )3) pao 35
4 AddFive () e cubls a5 3uS 50 o0 lie @S0 Jwyl T 4 1) 100 ,lads g (Slg>1)6 15 ks )5 |y AddFive () e (puiced
Sy 53 Lo il L3g9d 0 patiie (5ilw dguwS Caadl o5 Cunlaigl L3S0 030Uk (Sglite Azl Lad 9 MSo yuds (29>
392 oLl HI5 JbL €idbld Guyiwd LT a3 (oS 51 215 )5 a5 @l sjlal )5 4 g @335 wayy=i public w)ygo 4 ) oalsé L

. Mg Lyl private w)go @ dies 1L il
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(Properties) (olg>

b GOUS S JS1s ps private uwyiws pdaw b il 4 uwyiw (gl aanySwllgls )5 (63)l35kwl (Cauoguas) Property

property pggso JSwino ¢yl 88 (gh .3imd polais! Ll 43 35)15 Cungd 45 (g)lade yo ¢ Jibl didls (o yiwd LT 4y (WIS ;1 ¢

Sob) Hldie ) wyiwd (gl aiw o g (set Sob) Lo Hlabe Cags gy SO bbe ik 93 (ghls property o .3k &Iyl

bl se sy B 55 ;505 (slewlS )5 U Aigib iyl public ¢y 4 b b property . aibe private saly S (get

coNO VT A wWwNPRE

10

12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43

class Person

{

}

var personl
var person2

#name ;
#age g
#theight;

get Name()
{

}
set Name(value)

{
}

return this.#name;

this.#name = value;

get Age()
{

)
set Age(value)

{

this.#age = value;

}

get Height()
{

}
set Height(value)
{

}

return this.#age;

return this.#height;

this.#height = value;

constructor(name, age, height)

{

this.#name = name;
this.#age = age;
this.#height = height;

new Person("Jack", 21, 160);
new Person("Mike", 23, 158);

! Gl 0301 property jl eslaiwl g Layyei 69 pj JLio 4o
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90

console.
console.
console.

console.

console.
console.
console.

console.

personl.
personl.
personl.

person2.
person2.
person2.

console.
console.
console.
console.
console.

console.
console.

Jack

log("Name ", personl.
log("Age ", personl.
log("Height: ", personl.

log("\n"); //Seperator

log("Name ", person2.
log("Age : ", person2
log("Height: ", person2.

log("\n"); //Seperator

Name = "Frank";

Age = 19;

Height = 162;

Name = "Ronald";

Age = 25;

Height = 174;

log("Name ", personl.
log("Age : ", personi.
log("Height: ", personl.

log("\n"); //Seperator

log("Name : ", person2.
log("Age : ", person2.
log("Height: ", person2.

: 21 years
: 160cm

: Mike

: 23 years
: 158cm

Frank
: 19 years
. 162cm

: Ronald
: 25 years
: 174cm

Name) ;
Age ,"years old" );
Height , "cm");

Name) ;

.Age ,"years old" );

Height , "cm");

Name) ;
Age ,"years old" );
Height , "cm");

Name) ;
Age ,"years old" );
Height , "cm");

021635 La3,05 (3-5 bghs) AL dw Lo dolip (131 53 34550 83 Like a5 jghilad .cuwl 6301 property jl osliiwl 6g=5 YU doliy 5>

#name ;
#age g
#height;

(private Lwyiw> phaw b 3L aw)

<l iy ol (7-32 bghs) sadk 4l gl property @b jl bid oald ¢l yslie 4 uw)yiws
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Name ()
return this.#name;
Name(value)

this.#name = value;

Age()
return this.#age;
Age(value)

this.#age = value;

Height ()
return this.#height;

Height(value)

this.#height = value;

S T Jgl By a5 wiglas (] b 3l 0 dbgpe (Sl 3Ls pb 35lad b property pb ols)hd Gub a5 3uS azgs aiSs (pl @

A b50 3135h8 S g s HLul o ald g b property b ol S @S (0 S 390 didigs

get Gindu (65503 g set i 5o bl (1o ixdu 9 (glyls property o

+39)(50 )15 @ ((sloals (glacl) ald 43 (;@3;lade (glp Cawl 624D 831> (L Set (gIulS dalS b S set sy

2hasiwl (slosls (glacl) oalis 5l 1) jlade S a5 35,0 65l Lads 4 Cuwl 6340 6315 (HLis get (gaulS 4alS b aS (get iy

Gl pa@350 polaisl ALd 4 property Gub jl a5 cuwl (g)lade lad Value .35 axg5 set Sgly (J515 )5 value aalS

Object.Property = Value;

D AS Jac ) g 4 45 cunsdlS property @bl ald SO 0 Hlade S golaisl

Gob 51 @algi 0 45 ailagdizo a0l @ Lo g sl SET idn (s djio 4 ((G9lumo caadle j1 a2y Hlaiio Sy 313 )18) S el

padlgB (50 45 Cawl (g)lado Value g (53ylh pb Property (ol jl eaudb sloul (50 Object .puS @)lade 1) Al G set sy

AL dw @ )lade Golais! (gl Wie .auS eslaiwl () Gl ol I lgize Caols Sy a1 (wyiwd (Sl .eudd Golais! ald 4

1 A8 Jee ) )90 4 3L property @b jl height g name. age
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personl.Name = "Frank";
personl.Age = 19;
personl.Height = 162;

lozhd ghy @30 polais] loalid jI S 2 4 (g)dlie g 03)F (Slg>]y8 |) property o 4 bgiye set iy YL wlygiwd
L Lo a5 @ilagde dobiy @y )5 ¢l b .aawngis |y property ob ;5T 3 g dhis Cuole Guuw g s b &5 CuwdlS get iy

console.log("Name
console.log("Age
console.log("Height:

, personl.Name);
, personl.Age ,"years old" );
, personl.Height , "cm");

Al 4 )lade SO polais! (gl (o, licl O Llgiy )51 logiaie iS50 piu Blasil |y Lung 35 Lo property jl sslaswl

D a5 S (lgise L3S Slaul LT 1 Hlaie S 2l b

<305 Holais! ald 4 Algs (0 )5 a5 Cuwl (gydlie zxiw licl (o property Lol 5)))5

i b 3lgi 50 394 0313 Lolais! () age Al & e dlacl bid 4S5 3,uS Syl Cudgase S 3wlgise Ladb ) Jlie 53 Wie
10 plzol 1) 5 (ol Age capols> set sy

set Age(value)

if(value > @ && value < 100)

{
this.#age = value;
¥
else
{
return 0;
}

ks property < ¢lgise prizes .3 Ilg> a0 age )ldie a0 polaisl age A & iie Hlade o aolgzy )5 )51 >
Vlg> kds Name cuols SO plgige JUe plgic 4 .l set (izy 386 property (il 13,5 sleol (read-only) (Haslgs

138 sl pj wile

get Age()
{

}

return this.#age;

AL 93 (gl Blgiie property SO g0 azlge Uas b 3o (olaisl name Al 4 133 lade SO wuwlgy 513590 (gl 5d

A5 429l 5 AT @ L3l
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#firstName;
#lastName;

get FullName() { return firstName + + lastName; }

A 93 1 Sy o Sy Hlaie a5 @les)S wiyyei (Halg> hid property o 3uiSse siolie YU Jlie )3 a5 jghilen

3ok 1oz @ 5l dbold dluwg 4y a5 cawl 1astName g firstName
<alyg

@ dloze (Grun 9 )3 akal) Aile g .0 &)l 4 )03 GAUS jl ) (YL L Bluoga oS 3830 izl YIS SO 4 ey

S BL 03 &)l ) 395 )30 51 ) LB, 9 LS Jud I (Sluogad 35,8 45y, 9b
c B0 Gyl o lgaw S duiy a5 Canl S Ulg (oS b b GV

S AS (50 (62 Syl Qb GOS I aS Cawl GwlS 335),0 (IS b (G (VS

T ol 00 031> (LS 5 JUie yd> widlyg Lol pgeae .private

1 class classParent

2 {

3

4 #privateField = "This is private Filed From Parent Class!";
5

6

7 publicMessage()

8 {

9 console.log("This is public Message From Parent Class!");
10 }

11}

12

13 class classChild extends classParent

14

15

16 }

17

18 wvar child = new classChild();

19

20 child.publicMessage();
21 //child.#privateField; Error : Private field '#privateField' must be declared in an
enclosing class

This is public Message From Parent Class!
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ahw b Al S (ghls a5 (1-11 bgks) classParent (oS 5o ;1635 Layyel (S 93 YU 3S )5 34550 610 Lie 45 jghilad
)13 (6 pakio b Ao gl 395 453> 45 (13-16 bghs) )55 IS ¢ Cawl public Luwyiw ahw b ie S g private uw)yiwd
Pl ) ©)g0 4 NS S (5 Oyl 093

class Child extends Parent

1AS (g &yl classParent VS jl cuwl )8 classChild (wiS a5 @l63,5 Haswive 13 k5> )5 a5

class classChild extends classParent
Olowsgs clls ) 21 ba )31 o .34 (50 Glo pléw g 634 Ll g (Slg>]d sl public uwyiws abw (ghls> a5 (gaie iS50
le)e s private glacl 4 uwyiws (92 @9 (50 42lgo b b @uiS )=l 0)bgd |y 4ol g Bis ) // e iy S &)l
Lio guo (13-16 bghs) 15558 (S a5 @igdse j9Tdb HLL ;Y .Cuud iy HBal Wb Gk (WIS bwgs by g lb abgiye (WIS

o Blgise |y T public Luwyiwd plow b Xio Cawl 03,5 (5 <)l classParent GwlS I (o2 (g 3143 395 43 5> (gyuio by

Al aiisls de5
super g3als aalS g super() Xio

4295 pj JUio 4y .39 (50 3l (auiS s3laiuwl ()T (gloaS j1 g 83,5 (Sle>1yd 1) a0y (WIS 6355w Judledy a5 (Silej super() io )

TS
1 class Parent
2 {
3 constructor()
4 {
5 console.log("Message from parent class!");
6 }
7}
8
9 class Child extends Parent
10 {
11 constructor()
12 {
13 super();
14 }
15 }
16

17 var child = new Child();

Message from parent class!
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035w 33 1L o U ) (63 &yl T 51 LIS S HST AL @ (gl 8355w g (Gh1d 4y LIS ST (Sis 45 S azgl 4SS (ol 4

135 oolasiwl super() dio jl 355,8 (WS

class Parent

{
}
class Child extends Parent
{
constructor()
{
super();
console.log("Message From Child Class!");
}
}

var child = new Child();

Message From Child Class!

azlge ReferenceError: Must call super constructor in derived class glas b 3¢ (jige,d super() Yie ,S|
0 0dlaiwl S eslaiuwl 335,98 (WS 55l JBI5 5 ;a0 WS Lo b A8 SOl Lwlgi oS (Siloj super (gaulS dalS jl L aagh (50

TS 429l ) JUe 4 o9

class Parent

{
constructor()
{
console.log("Message from parent class!");
}
ShowMessage ()
console.log("Hello World!");
}
}
class Child extends Parent
{
constructor()
{
super();
super.ShowMessage();
}
}

var child = new Child();

Message from parent class!

Hello World!
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override
4 20 s 395 1 (Fglatie HUs) Gide (IS J2I5 )3 by (WIS Glodie a5 puiS () o aSil imy (med jL L override
AolgS Huyiand )3 B (oS 53 A Mo )go (gl )3 QiS50 (6 Syl A (S 1B GolS g aIs A (oS ) 1) A o Laib JUio (ylgic
Ol 395 51 (SIglitie jLid) e ¢yl &5 3l ST Jlo .l 034 03y &yl 4 A (WIS I a5 Cuwl (gxie Glod G855 A Xio Lol o9

D AS dzgi 5 AS ST @ LAiS (e Byby |y JShire (] (mn93;L L Overriding SauiS( 50 )52 Ao

1 class Person

2 |

3 ShowMessage ()

4

5 console.log("Message from Parent.");
6 }

7}

8

9 class Child extends Person

10 {

11 ShowMessage ()

12 {

13 super.ShowMessage();

14 console.log("ShowMessage method was overrided !");
15 }

16 }

17

18 var myPerson
19 var myChild

new Person();
new Child();

21 myPerson.ShowMessage();
22  console.log("\n");
23  myChild.ShowMessage();

Message from Parent.

Message from Parent.
ShowMessage method was overrided !

plen O a5 Cunl 034 Liyy=i Person (wiS )3 (6-3 bghs) ShowMessage pb 4 Lo Sy «3uiS( 0 030 Lie YU 35 )5 a5 jghileo
o 1) IShowMessage method was overrided pley pley ¢l o ogle Child (VS )5 dio (] puolg>(0 Jlo 350 il
L s 9 @amigize Child (oMS J31s )5 g (11-15) bghs )5 1) Jis (yrad S0 830 lie a5 jehilas HI5 ¢ul (gl .35 ol
23le VS 5 Yo (prad AL IS plas jl eslaiwl Juad 45 S50 Elel CanySwllgls 4 13 ks ) super (aulS dalS jl oslaiwl
aiildy Child sy 155,98 (wlS )0 o ol Cawl )8 a5 1) 8LoI oaS 14 ks iy jgiwd ¢l jl Ay b 5> aSl gy @y)ls |y
9 ML 355 41 )3 (3L ST (Sh1d Lo (IS e )51 Lal AiLS IS 3j Sk (al 4 (sie (Sh )5 2l Vb Eamngise 1L

LS50 4505w g ding | (oug3aS bg) ol jl ealiiwl 3 LS| T ) 355,85 (WIS )5 (6,50 35 Juwlgsy Lesd
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instanceof )Slac

1) oVS) ol Eg5 Sl gl Sy o S LT &5 IS Gl 45 3350 05l Lads 4 wnySwllgls 4> instanceof Xlac
0OWS SO S Joy8 (Jlie ylgic a1 . 3515)3 oy |y oy Hlade SO g 315 Lo Jiglac 93 4y instanceof Slac .45 b cunl (... (VS
T EaiS 50 dloul ¢ 1 dgad SO Guaw ay)ls Animel b

class Animal

{
}

var myAnimal = new Animal();

if (myAnimal instanceof Animal)

{
}

myAnimal is an Animall!

Ll 034b o3laiwl 1 Wylic )3 by glgic & o jl Juinse a5 jghiled .033)S salie Jlie ¢l ) Iy instanceof Slac )L,

console.log("myAnimal is an Animall!");

S Cawl Cuwyd Az ()92 9 Gl Animal jl digas SG myAnimal b LT a5 GS (50 S a5 Gl ¢l YU Jlie jd T 3,5

wl Gols g Sy edlyg Lilye dunduw )3 ol ¢ SO LT a5 35S Sz Blgiso puizad )Slac ¢l 3950 Iyl 1 jgiws J51s
P S dzgi JUe ol @
class Animal
{
}

class Dog extends Animal

{
}

var mydog = new Dog();
if (mydog instanceof Animal)

console.log("mydog is an Animal!");

}
OO (ol jl digal S Guaw 350 syl Animal GulS 1 a5 @sled)S slowl Dog b ds (S S5 Lo a0 YU Jlio > a5 jghilas

SO bl Animal (S jo oaub dloyl diges LT 45 @uiS e s instanceof Slac jl oslaswl b Guww g @uiS(s0 Syl (Dog)
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dou (Gl gloas S o Sw) 350 )l Animal (WS I Dog (WIS aSuleuT jI . 3bbse Animal (VS jl oddd @iske (wMS
TAu8| (o (BLES] Az dgise Koy dlas (;i8g ."Cun] Sw Sy o oloas " 1aadd 5 |) YU dlas Jlo .l (true) cusys o)le

var myAnimal = new Animal();

if (myAnimal instanceof Dog)

{
}

console.log("myAnimal is a Dog!");

303 (0 (ialed o5 |y (ol g (g d9ibsa) Las el ol
Static Lgbécl

odlaiwl static aulS dalS jl b wyiwd JsB (oS (lodige) dad )3 a5 @S dloul (iuols b (3Ld) (glesls gac pavlgsy S|
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1 class SampleClass

B {

3 static ShowStaticMessage()

4 {

5 console.log("static method has been called.");
6 }

i )

8

9 SampleClass.ShowStaticMessage();

static method has been called.
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<script>

Number

</script>
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try
{

}

catch

{

number;

console.log("This word is not defined");

}
This word is not defined

T oelplo L 3gdse ol catch Sob J51s (gloas Cuwl 6aal 3929 4 (U3 Vb doliy 5> aSulssl

try
{

number;
console.log("This line will not be executed.");

}

catch

{
}

console.log("This word is not defined");
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try
{
number;
catch(err)

{

console.log(err.name);

}

1) Gislel message caols

try
{

number;
catch(err)

{

console.log(err.message);

¥
number is not defined
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try
{
eval("a ++ b");
}
catch(err)
{
if (err instanceof ReferenceError)
{
console.log("value is not defined");
}
if (err instanceof TypeError)
{
console.log("Format cannot be accepted!");
}
if (err instanceof SyntaxError)
{
console.log("Causes SyntaxError");
}
}

Causes SyntaxError
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try
{
number;
catch(err)
{
console.log(err.message);
}
finally
{
console.log("finally blocked was reached.");
}

number is not defined

finally blocked was reached.
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